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INSTRUCTIONS 

  

   
 

    
 

1.   Answer all the questions. All questions carry one mark each 
 
2.  Since all questions are compulsory, do not try to read through the whole    
      question paper before beginning to answer. 
 
3.  Begin with the first question and keep on trying one question after another    
      till you finish all the question. 
 
4.  If you do not know the answer to any question, do not spend much time on  
      it but pass on to the next one. Time permitting, you can come back to the  
      questions which you have left in the first  instance and try them again. 
 
5. Since the time allotted to this question paper is very limited, you should  
     make the best use of it by not spending too much time on any one question. 
 
6. Separate sheets have been provided for rough work in the Question Booklet  
     itself. 
 
7. The answers should be marked on a separate answer sheet (OMR Sheet)     
  provided in the Examination Hall. 
 
8. The answer sheet has two parts corresponding to Part – I and Part –II of the  
     Test. Part – I has two sections A and B. Students should attend both the     
     sections compulsorily. 
 
9.  Answer to each question is to be indicated by shading the number of the   
     correct choice in the answer sheet with black ballpoint pen from amongst  
     the ones given for the corresponding question in the test booklet. 
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தமிழ் 
1. ம஥ய்ம஦ழுத்துகளப எனிக்கும் பதோது ப஬றுதட்ட______ எனிகளப ஢ோம் பகட்கனோம். 

1) இ஧ண்டு  2) னென்று  3) ஍ந்து  4) ஆறு 
 

2. ம஬ண்தோ஬ில் ’அஃது’ ஋ன்னும் ஈற்றுச்சீரில் ஬ரும் ஏ஧ளச஦ின் ஬ோய்தோடு___  
1) ஢ோள்  2) ஥னர்  3) கோசு  4) திநப்ன௃ 
 

3. ஆ஧ம்தம் ஋ன்த஡ன் ஡஥ிழ்ச்மசோல் ______ 
  1) ம஡ோடக்கம் 2) ன௅஡ல் ஢ிளன 3) து஬க்கம்  4) ம஡ோடர்ச்சி 
 
4. ‘஬ிளபந்து ன௅஡ிர்ந்஡ ஬ிழுன௅த்து’ ஋ணக் கூறும் நூல் _____ 

1) ஥ளனதடுகடோம் 2) தட்டிணப்தோளன 3) அக஢ோனூறு  4) ஥துள஧க்கோஞ்சி 
 

5. இங்கினோந்து ஢ோட்டு ஥கோ஧ோ஠ி஦ோர் ஬ிக்படோரி஦ோ கோளன஦ில் கண் ஬ி஫ித்஡தும் 
ன௅஡னில் தடித்஡ நூல் ____ 
1) ளததிள் 2) கம்த஧ோ஥ோ஦஠ம் 3) ஡ிருக்குநள் 4) ஡ிருக்கு஧ோன் 
 

6. ’஢ோத்ம஡ோளன஬ில்ளன’ – திரிக்கும் ன௅ளந ____ 
  1) ஢ோ + ம஡ோளனவு + இல்ளன    2) ஢ோத்ம஡ோளனவு + இல்ளன 
  3) ஢ோ + ம஡ோளன஬ில்ளன  4) ஢ோத்ம஡ோளன + இல்ளன 
 
7. ______஬ிழுக்கோடு அபவுக்குத் ஡ி஧ோ஬ிட ம஥ோ஫ிக்கூறுகளபக் மகோண்டுள்ப எப஧ 
஡ி஧ோ஬ிட ம஥ோ஫ி ‘஡஥ிழ்’ 

  1) ஋ழுதது  2) ஋ண்தது  3) ம஡ோண்ணோறு 4) ஍ம்தது 
 
8. தோ஧஡ி஦ோர் இ஦ற்நி஦ உள஧஢ளட இனக்கி஦ங்களுள் என்று ______ 
  1) கண்஠ன் தோட்டு 2) தோஞ்சோனி சத஡ம் 3) ஞோண ஧஡ம் 4) இப஦சு கோ஬ி஦ம் 
 
9. ஆணித் ஡ிங்கபில் ஢ளடமதறும் ஬ி஫ோ  _______ 
  1) ஥ஞ்சு ஬ி஧ட்டு     2) ஡ீ஥ி஡ி ஡ிரு஬ி஫ோ  
  3) ஊஞ்சல் ஡ிரு஬ி஫ோ    4) அறு஬ளடத் ஡ிரு஬ி஫ோ 
 
10. ‘ம஡ோழுப஡ோர்’ ஋ன்த஡ன் இனக்க஠க்குநிப்ன௃ _______ 
   1) உரிச்மசோற்மநோடர்    2) ஬ிளணத்ம஡ோளக   
   3) ஬ிளணன௅ற்று    4) ஬ிளண஦ோனள஠னேம் மத஦ர் 
 
11. அறு஬ளடத்஡ிரு஬ி஫ோ ஋ன்ந மத஦ரில் மகோண்டோடும் ஢ோடுகள் _____ 
   1) ஜப்தோன், ஜோ஬ோ    2) சிங்கப்ன௄ர், ஥பனசி஦ோ  

3) இங்கினோந்து, அம஥ரிக்கோ  4) இந்஡ி஦ோ, ஡ோய்னோந்து 
 

12. ‚ன௃நோ கூவும்‛- இ஡ில் அள஥ந்துள்ப ஬ழு_________ 
   1) கோன ஬ழு  2) ஥஧ன௃ ஬ழு 3) ஡ிள஠ ஬ழு  4) இட ஬ழு 
 

SECTION - A 
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13. ஥துள஧த்஡஥ிழ்ச் சங்கத்ள஡த் ‘஡஥ிழ்ப஬னி’ ஋ன்று குநிப்திடும் நூல்___ 
   1) தரிதோடல்  2) ன௃ந஢ோனூறு 3) ஢ற்நிள஠  4) குறுந்ம஡ோளக 
 
14. ஡஥ிழ்஬஫ி த஦ிலும் ஥ோ஠஬ர்களுக்கு அ஧சுப் த஠ி஦ில் பச஧ ஋த்஡ளண ஬ிழுக்கோடு 
அபவு எதுக்கித் ஡஥ி஫க அ஧சு ஆள஠ ம஬பி஦ிட்டுள்பது___ 
1) 30  2) 35   3) 25   4) 20 
 

15. ஢஥க்கு ஢ல்ன துள஠_____ 
   1) அநிவு       2) மசல்஬ம்  3) எழுக்கம்  4) மதோருள் 
 
16. தரி஡ி஥ோற் களனஞரின் ஆங்கினப் பத஧ோசிரி஦ர் ______ 
  1) ஬ில்னி஦ம் ஥ில்னர்  2) ஥ோக்சு ன௅ல்னர்  3) டோல்ஸ் டோய்  4)அரிஸ்டோட்டில் 
 
17. ஌னோ஡ிப் தோடனில் கூநப்தடும் அநம஢நிக் கருத்துகள் _____ 
  1) ஢ோன்கு  2) இ஧ண்டு  3) ஆறு  4) ஍ந்து 
 
18. தளக஬ரின் மசருக்ளக அறுப்தது_____ 
  1) மசல்஬ம் 2) தளடக்கரு஬ிகள் 3) ஬஧ீம்  4) மகோளட 
 
19. ’஢டளன’ ஋ன்த஡ன் மதோருள் _____ 
  1) இன்தம்  2) துன்தம்  3) எழுக்கம்  4) பசோர்வு 
 
20. இ஬ற்நில் இண஥ிகல் இடம் மதறு஬து 
  1) ம஬ற்நிளன 2) கரும்தனளக 3) தோசளட  4) னெதூர் 
 
21. கம்தரின் ச஥கோனப் ன௃ன஬ர் ______ 
 1) எட்டக்கூத்஡ர் 2) கோபப஥கப்ன௃ன஬ர் 3) ஡ிரு஢ோவுக்க஧சர் 4)஥ோ஠ிக்க஬ோசகர் 
 
22. ‘க஬ண஥ோகப் தடி’ ஋ன்தது ____ ம஡ோடர் 
  1) ஡ணி஢ிளனத் ம஡ோடர்  2) கனள஬த் ம஡ோடர்  
  3) கட்டளபத் ம஡ோடர்       4) ம஡ோடர் ஬ிளணத்ம஡ோடர் 
 
23. ஋ழு஬ோய் ஡ோபண மசய்னேம் ம஡ோ஫ிளன உ஠ர்த்து஬து _____ 
  1) ஡ன்஬ிளணத் ம஡ோடர்  2) திந஬ிளணத் ம஡ோடர்            
  3) மசய்஬ிளணத் ம஡ோடர்  4) மதோருள்஥ோநோ ஋஡ிர்஥ளநத்ம஡ோடர் 
 
24. ஡ிரு஢ோவுக்க஧சள஧ ஆட்மகோண்ட ப஢ோய் _____ 
  1) ஬ோ஡ ப஢ோய் 2) சூளன ப஢ோய் 3) அம்ள஥ ப஢ோய்  4) கோய்ச்சல் 
 
25. ’அ஧ோ’ ஋ன்த஡ன் மதோருள்________ 
  1) தோம்ன௃      2) குப஬ி       3) தநள஬       4) ஬ண்டு 
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HINDI 
 

1. जनैेंद्र कुभाय की कहानी ? 

1) नीरकण्ठ     2) फड ेबाई साहफ      3) चिडडमा की फच्िी     4) घीसा 
 

2. जननी जन्भबूमभ कविता के कवि ? 

1) सूमयकाॊत त्रिऩाठी   ननयारा     2)  भैचथरी शयणगुप्त    

3)  बगिती ियणिभय      4)  श्री नगीन िन्द्र प्रदीऩ 
 

3. नेहुरू जी को ककस नदी से विशेष प्रेभ है ? 

1) कृष्णा      2)  कािेयी      3) गॊगा      4)  गोदाियी 
 

4. नीरकॊ ठ ककस देि का नाभ है ? 

1)  विष्णु      2)  मशि     3)  श्रीयाभ     4)  श्रीकृष्ण 
 

5. प्रेभिॊद का ऩहरा नाभ ? 

1) प्रसादयाम    2)  गुराफयाम      3)  निाफयाम      4) धनऩतयाम 
 

6. सम्राट् शब्द का स्त्िीमरॊग शब्द ? 

1) सम्राज्ञी     2) याज्ञी      3)  देियानी      4)  यानी 
 

7. दानीकुभणन को ककसने गद्दी से हटामा ? 

1) इरॊकुभणन    2)  इरॊगोिन       3)   िात्तनाय      4) चििनाय 
 

8.   नदी शब्द का ऩमायम िािी शब्द ? 

1) सरयता     2) सयोिय      3)  सभुद्र    4) सागय 
 

9. भगध- कमरॊग मदु्ध  की ऐनतहामसक घटना ऩय मरखित एकाॊकी ? 

1) िॊद्रगुप्त       2) आषाढ का एक ददन       3)  अशोक का शस्त्ि त्माग       4)  अॊधेय नगयी 
 

10. विशेष गुणों के आधाय ऩय यक्त ककतने िगों भें फाॉट ददमा जाता है ? 

1) एक       2)  दो       3)  तीन     4)  िाय 
 

11. आिामय धभयिीय बायती के ननजी ऩुस्त्तकारम की ऩहरी ककताफ ? 

1) बगिद्गीता     2)  देिदास       3)   काभामनी       4)  याभामण 
 

12. चिडडमा की फच्िी ककस को ऩसॊद रगी ? 

1) देिदास को          2) याभदास को     3)  भाधिदास को      4)  जेसुदास को 
 

13.  यिीॊद्रनाथ ठागूय की कहानी ? 

1) आल्फभ          2) फड ेबाई साहफ       3)  हाय की जीत       4)  काफूरीिारा 
 

14.  प्रामश्चित कहानी भें ककस का प्रमश्चित कयना ऩडा ? 

1) त्रफल्री का      2) कुत्ते का        3)  गधे का       4)  गाम का 



4 
 

15.  दादी भाॉ कहानी के कहानीकाय ? 

1) मशिप्रसाद मसॊह    2) मशिभॊगरमसॊह     3)  अमोध्मामसॊह     4)  प्रेभिॊद 
 

16. भेयी कहानी ककस की आत्भकथा है ? 

1) इॊददयागाॊधी की     2) भहात्भागाॊधी की      3)  नेहुरू जी की     4)  सयदाय ऩटेर की 
 

17. याभिरयतभानस ककस की यिना है ? 

1) तुरसीदास      2) सूयदास        3)  कफीयदास      4)  यहीभ 
 

18. िाच्म ककतने प्रकाय के हैं ? 

 1) दो        2) तीन        3) िाय      4) छः 
 

19. अचधकयण कायक चिह्न  ? 

1) का      2) को       3)  ऩय       4)  स े
 

20.  स्त्िाभी वििेकानॊद औय गुरु याभकृष्ण ऩयभहॊस की ऩहरी भुराकात सन ्------ भें हुई ? 

1) 1880        2) 1980         3) 1904       4) 1889 
 

21.  ननदेशक विशेषण का दसूया नाभ ? 

1) गुणिािक विशेषण     2) सॊख्मािािकविशेषण     3)  बाििािकसॊज्ञा     4)  साियनामभकविशेषण 
 

22.  िैद्मनाथमभश्र ककस कवि का असरी नाभ है ? 

 1) धभयिीयबायती     2) याभिॊद्रशुक्र     3)  नागाजुयन      4)  मशिप्रसादमसॊह 
 

23. प्रत्मम का दसूया नाभ ? 

1) सगय       2) विसगय       3)  उऩसगय      4)  ऩयसगय 
 

24. राम ने फऱ ऱाया - शुद्ध कीश्जए ? 

1) याभ ने पर रामे     2) याभ को पर रामा     3)  याभ से पर रामा     4)  याभ पर रामा 
 

25. हभाये शयीय भें रग बग ककतने रीटय िून होता है ? 

1) ऩाॉि          2) तीन        3)  सात        4) िाय 

 

FRENCH 

1. Vous __________ (s‘appeler) comment ? 
 1) appelez  2) vous appellez 3) vous appelez 4) appellez 

 
2. Vladimir est de Moscou. Il est ___________. 

 1) américain  2) russe  3) mexicain  4) belge 
 

3. Tu __________ quel âge ? 
  1) es   2) as   3) ai   4) est 

 
4. C‘est un stylo de Maria. C‘est __________ stylo. 

  1) sa   2) ta   3) ton   4) son 
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5. Avec le petit-déjeuner, nous prenons toujours __________  thé. 
 1) du   2) de la  3) de    4) des 
 

6. Mon lit est __________ ma chambre. 
 1) entre   2) au milieu de 3) sous   4) sur 

 
7. Elle __________ avec son père au marché.  

 1) vais   2) vas   3) va   4) allez 
 

8. Tu ___________ à Paris demain soir. 
 1) seras   2) sera   3) auras  4) aura 

 
9. Nathalie ___________ chez son amie 

 1) viens arriver  2) vient arriver 3) viens d‘arriver 4) vient d‘arriver 
 

10. Je ___________ le repas. 
 1) vais commande      2) vais commander      3) va commander       4) vais commanderai 

 
11. __________ monument est célèbre. 

 1) Ce   2) Cette  3) Cet   4) Ces 
 

12.  Il faut que tu  _________ le petit-déjeuner. 
 1) prenne  2) prends  3) prennes  4) prend 

 
13.  Si tu __________ bien, tu auras de bonnes notes. 

 1) écrit   2) écris   3) écrira  4) écrire 
 

14.  Elle _________ été malade une semaine. 
 1) est   2) a   3) as   4) es 

 
15. Nous finissons nos exercices __________. 

 1) facile   2) faciles  3) facilment  4) facilement 
 

16. Vous _________ m‘aider, s‘il vous plaît ? 
 1) pourrais  2) puissiez  3) pourriez  4) pouriez 

 
17. Je donne du lait à mes chats. Je __________ donne du lait. 

1) leur   2) lui   3) les   4) leurs 
18. __________ un compte, vous aurez la carte bancaire. 

 1) Ouvrant  2) En ouvrant  3) Ouvrir  4) En ouvrir 
 

19. J‘ai perdu mon carnet de chèques et  __________ carte bancaire. 
 1) mon   2) mes   3) tes   4) ma 

 
20. C‘est une amie ___________ je connais depuis mon enfance. 

 1) qui   2) que   3) ou   4) où 
 

21.  Elle __________ les cheveux courts et les yeux bleus. 
 1) avais              2) avaient   3) avait  4) avais eu  

 
22. La __________ du congrès est de 4 jours. 

 1) durée   2) duré   3) dure   4) durer 
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23. Payez 100 roupies pour qu‘on ___________ organiser une visite en ville. 
 1) puisses   2) puisse  3) pouvait  4) pourrait 
 

24.  Elle ___________ à Pondichéry depuis deux jours. 
 1) a arrivé   2) a arrivée  3) est arrivé  4) est arrivée 

 
25. Il souhaite le bonjour à son cousin. Il __________ souhaite le bonjour. 

 1) le   2) leur   3) lui   4) La 
 

TELUGU 

 

      


      


      


    
    


      


   


    
   


   
    


     


     


     

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
      


    


     


       


     


     


      


     


     


  


 
 
 
 


     


     


   
   

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MALAYALAM  

1. ©ùâÌí ®K ÄâÜßµÞ ÈÞÎJßW ¥ùßÏæM¿áK ØÞÙßÄcµÞøX 

1)®¢.¿ß  2)².®X.Õß   3)Éß.Øß.µáGß µr×íÃX  4)ÎáIçÛøß 

 

2. ÕÏÜÞV ¥ÕÞVÁí çÈ¿ßÏ Øá·ÄµáÎÞøßÏáæ¿ µrÄß 

1)¥OÜÎÃß  2)µáùßEßÉâAZ     3)øÞdÄßÎÝ  4)ÎáJáºßMß 

 

3. Ü{ßÄ ·ÙÈBæ{Kí ØuwøcæJ ÕßçÖ×ßMßºîÄÞøí 

1) ¥øßØíçxÞGßW 2)çØÞdµGàØí    3)¦ÈwÕViÈX 4) çÉïçxÞ 

 

4. ÄÞæÝ æµÞ¿áJÕÏßW ÙøßÄçÎÞÙÈ¢ ®K µÅÏíAí ¥ÈáçÏÞ¼cÎÜïÞJÄí 

1)È·ø ¼àÕßÄJßæa ¥ØbÞÄdLc¢  

2)ÎHßçÈÞ¿á¢ dÉµrÄßçÏÞ¿áÎáU §ÝÏ¿áM¢  

3)ËïÞxßæÜ ÄÞÎØAÞV ÄNßÜáU ØuÙrÆ¢  

4)ÉøßØíÅßÄßæÏAáùßºîáU dÉÄcÞÖ 

 

5. ÄáÝ +¦X _ ÄáÝÏÞX §ÄßæÜ ØtßÏáæ¿ çÉøí 

1)¦·ÎØtß   2)¦çÆÖØtß    3)ÆbßÄbØtß  4)çÜÞÉØtß 

 

6. ¦µáÜ¢ ®K ÉÆJßæa ¥Vj¢ 

1)Éøß·ÃÈ    2)ØíçÈÙ¢     3)¦·Î¢   4)Æá:¶¢ 

 

7. ¥¼·¼ÞLø¢ ®K µÅ ÕÞÏÈAÞçøÞ¿í ÉùÏáKÄí 

1)µÝßÕßÈÈáØøßºîí ¦d·ÙßAáµ  2)¦d·Ù¢ ØÞÇßAáµÏßÜï 

 3)ÈzæºÏîáµ     4)µâ¿áÄW ¦d·ÙßAáµ 

 

8. ¼àÕßÄJßæa µ¿ÜßæÈ µÕßÄÏáæ¿ Î×ßMÞdÄÎÞAßÏ µÕß ¦øí 

1)®X.®X.µAÞ¿í  2)èÕçÜÞMßUß   3)¦xâV øÕßÕVN 4) ÕÏÜÞV 

 

9. ¦VMá¢ Õß{ßÏáÎÞæÏJß µ{µ{ 

  ÎÞµÞÖFßÄ ·àÄµBZ (ÈÞÜßÄZ ÉâÕí) 

   ¦VMáÕß{ßÏáÎÞÏí ®JßÏÄÞøí? 

1)çÄÈàºîµZ 2)µß{ßµZ 3)ÉâOÞxµZ  4)ÄáOßµZ 

 

10.µbßxßLcÞ ØÎøµÞÜJí ¼ÏßÜßW Õºîí æÈÙíùá ®ÝáÄßÏ µrÄß? 

1)¦vµÅ    2)²øÑX ÎµZAÏºî µJáµZ  

3) §LcæÏ µæIJW  4)ÕßÖbºøßdÄÞÕçÜÞµÈ¢ 

 

11)ØVAÞV ©çÆcÞ·ØíÅøáæ¿ ¥ÈÞØíÅÏá¢ dØñà ¼àÕßÄJßæa èÆÈcÄÏá¢   

²øáçÉÞæÜ ¥ÕÄøßMßAáK Øß.Õß dÖàøÞÎæa µÅÏÞÃí 

1)ºßÆ¢Ìø¢ 2)Éáøá×ÞVj¢  3)ØÞfß      4)ÕÞØñáÙÞø 

 

12)ÕÝßÕß{Aí ®K ÉÆ¢ Õßd·ÙßºîÞW 

1)ÕÝßÏá¢Õß{Aá¢  2)ÕÝßÏáæ¿ Õß{Aí 3)ÕÝßÏßæÜ Õß{Aí 4)ÕÝßÏÞÜáU Õß{Aí 

 

13)ÕÞÈßW ÎáÜïæÎÞGáµZ ÕÞøßÕßÄùßæµÞIí ÕæKJáKÄí 

1)ÉµW     2)Øtc       3)ÉáÜøß   4)øÞdÄß 
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14) ©Uâøßæa ÎÙÞµÞÕc¢ 

1)µÜíÉÖÞ¶ß    2)µVHÍâ×Ã¢   3)©ÎÞçµø{¢  4)Éß¢·{ 

 

15. ¥ÏîMÈá¢ ÕøßAÉïÞÕá¢ ÄNßÜáU ¦víÌtJßæa µÅÏÞÃí 

1)çÄX ÕøßA  2)ÈßTÙÞÏæa ÈßÜÕß{ß   3)æÉÜÎùáÄ 4)µáMßÕ{µZ 

 

16. 'çdµÞÇ¢ ÉøßÄc¼ßçAÃ¢ ÌáÇ¼È¢" _ ®Kí ¦çøÞ¿ÞÃí dÖàøÞÎX ùÏáKÄí? 

    1) ÍøÄçÈÞ¿í    2) ØàÄçÏÞ¿í     3) ÜfíÎÃçÈÞ¿í 4) ÆÖøÅçÈÞ¿í 

 

17. ÄÞæÝæAÞ¿áJÕÏßW µÅµ{ßAáÉçÏÞ·ßAáK ÕÞÆcçÎÄí? 

1) ÄßÎßÜ    2) µáÝW        3) çºBßÜ  4) ÎßÝÞÕí 

 

18. ºßø¾í¼àÕßµ{ßW dÉÎá¶Èá¢ ®KÞW ÖÉßAæMGÕX ®Ká 

ÕßçÖ×ßMßAáKÕÈáÎÞÏ ÎÙÞÍÞøÄ µÅÞÉÞdÄ¢ ¦øí? 

1) Íà×íÎV    2) çdÆÞÃV       3) ÆáçøcÞÇÈX  4) ¥ÖbjÞÎÞÕí 

 

19. ¥N ®K µÅ Ì×àùßæa ¯Äí µãÄßÏßW ÈßæK¿áJßGáUÄÞÃí? 

1) ¼zÆßÈ¢     2) ²ÞVNAáùßMí   3) ÕßÖMí        4)ÌÞÜcµÞÜØ¶ß 

 

20.RºdµÕVJßÈßÏáæ¿ ¼zÎÞÃÕVAí ¦øáæ¿ ÎáKßÜá¢ ÄÜµáÈßAßÜïQ ¦æø    

µáùßºîÞÃí µÅÞµÞøß §BæÈ ÉùÏáKÄí? 

1) ÎßTßØí ÄÜJßæÈ µáùßºîí  2) çdÉÎæÏ µáùßºîí  

3) ØáÇàùßæa ÍÞøcæÏ µáùßºîí  4) ¦ÖæÏ µáùßºîí 

 

21. ÌÞÙá¼X ®K ÕÞAßæa ¥Vj¢ 

1)ØçÙÞÆøX     2)fdÄßÏX    3)µÞÜÉáøá×X     4) µã×íÃX 

 

22. æÉøáO¿Õ¢ dÖàÇøçaÄÜïÞJ µãÄß ¯Äí? 

1)²øá ØCàVJÈ¢çÉÞæÜ  2)ÈÞøÞÏÃ¢  

3) øÞ¼ÞCÃ¢     4)çÕÈÜßW ÉâAáK Îø¢ 

 

23. ØFÞøØÞÙßÄcµÞøÈÞÏ ®Øí.æµ. æÉÞxAÞ¿ßÈí ¼í¾ÞÈÉàÀ¢ ¥ÕÞVÁí 

çÈ¿ßæAÞ¿áJ çÈÞÕW ¯Äí? 

1)²øá æÄøáÕßæa µÅ 2)Õß×µÈcµ 3)èÈW ÁÏùß 4)²øá çÆÖJßæa µÅ 

 

24. “µÞ{ßÆÞØX Äßµºîá¢ ÎÈá×cµÅÞÈá·ÞÏßÏÞµáKÄí Äæa ÈÞ¿µB{ßÜÞÃí‖ ­ 
µÞ{ßÆÞØæa ¦ÆcæJ ÈÞ¿µçÎÄí? 

1) ÖÞµáL{¢  2) ÎÞ{ÕßµÞ·íÈßÎßdÄ¢    3) ÕßdµçÎÞVÕîÖàÏ¢    4) ø¸áÕ¢Ö¢ 

 

25. ².Õß.Õß¼Ïæa µ¿WÄàøJí ®K µÅÏßæÜ ÈÞÏµµÅÞÉÞdÄ¢ ¦øÞÃí? 

1)ÎøÏíAÞV  2) ÉÞùÞÕáµÞøX   3) µáGcTX ÎÞMß{   4) æÕUÞÏßÏMX 
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 ENGLISH 
 

26. Match the ‗IF Clause‘ with the correct main clause.   If it had rained 

1) We would stay at home.    2) We will have stayed at home. 
3) We would have stayed at home.    4) We will stay at home. 

 

27. Swarna didn‘t do her homework last Monday. ___________? 
        Choose the suitable question tag. 

 1)  didn‘t  she         2) did she                3) do she  4) don‘t  she 
 

28. ‗‘……..…my manhood is cast down in the flood of remembrance‖. The figure of speech 
employed here is 

 1) Simile          2) Hyperbole   3) Metaphor  4) Personification 
 

29. Choose the right plural form for ‗Economics‘ 

 1) Economic        2) Economices    3) Economical 4) none of the above 
 

30. Find out the odd pair. 
 1) Twigs – Nest      2) Wood – Furniture     3) Pitcher – Pottery      4) Gold – Ornaments 

 

31. Find out the right structure applied in the following question. 
       When shall we meet again 

1) QW+MV+S+HV    2) QW+S+HV+MV      3) QW+HV+S+MV      4) QW+S+MV+HV 
 

32. Choose the phrase that is closest in meaning: 
       The summer temperature soars past 105 

◦
F in North India 

 1) Runs forward       2) grows over              3) Increases to    4) flies high 
 

33. Choose the correctly punctuated sentence 

 1) we have lifted off, I yelled!  2) ―we have lifted off,‖ I yelled! 
 3) ―we have lifted off‖, I yelled!  4) we have lifted off, I yelled. 

 

34.  Find out apt idiom. 

       After Ajith was released from prison he decided to become an honest man. 
 1) Devil‘s Advocate   2) Turn over a new leaf    3) Hit below the beet    4) Gift of the gap 

 

35. What is the expansion of GST? 
1) Grant Service Tax    2) Goods and Services Tax   

3) Goods Service Tax    4) none of the above 
 

36.  My friend is a heart patient. Please advise him to whom he has to consult. 
1)  Cardiologist      2) Orthopaedist                     3)  Neurologist 4)  Dermatologist 

 

37. UNESCO is in the form of _____ 
1) Abbreviation       2) Acronym                          3) Contraction       4) none of the above 
 

38. Find the right answer 

       __________ is the repetition of an initial consonant sound in the poetic line. 
1) Personification      2) Alliteration            3) Oxymoron  4) Simile 
 

39.  Transpose the letters, ‗Funeral‘ and form an antigram 
1)  Fun       2)  Real fun            3)  Numeral  4)  Emarald 
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40.  Match the following 
1.  On account of   -  A begin a new course. 
2. to look after   -  owing to. 

3. to take a new turn  -  in the middle of. 
4. In the midst of  - protect/ to keep safe. 

1) 1-b, 2-d, 3-a, 4-c          2) 1-c, 2-a, 3-d, 4-b         
3) 1-c, 2-b, 3-d, 4-a     4) 1-b, 2-c, 3-d, 4-a 

 

41. Choose the appropriate meaning for the underlined idiom. 
He used to make a mountain out of a mole hill. 

1) exaggerate a problem    2) in big trouble    
3) anywhere in earth        4) do everything possible 

 
42. Select the correct synonym for ‗IRREFUTABLY‘ 

1) habituated  2) shiver  3) fierce   4) convincingly 
 

43. The Latin word ‗etcetera‘ (etc) means 
1) and the rest  2) for example  3) that is 4) in the same place 

 
44. What is the ‗noun‘ form of the word ‗KNOW‘. 

1) knowing  2) knowledge  3) known  4) knew 
 

45. Rearrange the four sentences (1), (2), (3), (4) in proper sequence to form a meaningful              
paragraph where the first and last sentences are fixed. 

S1: The heart is the pump of life. 
A: They have even succeeded in heart transplants 

B: Now-a-days surgeons are able to stop a patient‘s heart and carry out complicated    
operations 

C: A few years ago, it was impossible to operate on a patient whose heart was not          
working properly. 

   D: If the heart stops, we die in about five minutes. 
S6: All this was made possible by the invention of the heart lung machine. 

1) D C B A  2) D A C B  3) D B A C  4) D C A B 
 

46. Sleep walking, formally known as _______ 
1) Lazy walking  2) Somnambulism 3) Mentally retired 4) Smart ass 

 
47. All students except John completed class work. This means 

1) All students completed the class work. 
2) Only John did not complete the class work. 

3) John and other students did the class work. 
4) John completed the class work. 

 
48. Pick the personified word from the following. 

1) ‗Flood of remembrance‘     2) ‗Oye wheels‘       3) ‗Virgin rock‘   4) ‗Like gnomes‘ 
 

49. Find the odd man out. 
1) Sob   2) Lament  3) Weep  4) Laugh 
 

50.  Choose the appropriate option for the underlined word. 

        The Police investigated the case seriously. 
1) Looked into.   2) Looked through. 3) Looked out.  4) Looked off. 
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Questions (51-55) 

Directions: Read the following information carefully and answer the questions below: 

(i) Five friends P, Q, R. S and T travelled to five different cities of Chennai,Calcutta, Delhi, 

Bangalore and Hyderabad by five different modes of transport of Bus, Train, Aeroplane, Car and 

Boat from Mumbai. 

(ii) The person who travelled to Delhi did not travel by boat, 

(iii) R went to Bangalore by car and Q went to Calcutta by aeroplane. 

(iv) S travelled by boat whereas T travelled by train. 

(v) Mumbai is not connected by bus to Delhi and Chennai.  
 

51. Which of the following combinations of person and mode is not correct? 

         1) P — Bus      2) Q — Aeroplane             3) R — Car  4) T — Aeroplane 

 

52. Which of the following combinations is true for S? 

         1) Delhi — Bus      2) Chennai — Bus             3) Chennai — Boat 4) None of these 

 

53. Which of the following combinations of place and mode is not correct? 

         1) Delhi - Bus      2) Calcutta - Aeroplane     3) Bangalore - Car     4) Chennai - Boat  

 

54. The person travelling to Delhi went by which of the following modes? 

         1) Bus      2) Train             3) Aeroplane   4) Car  

 

55. Who among the following travelled to Delhi? 

         1) R      2) S             3) T    4) None of these 

 

Questions (56-60) 

Directions: Read the following information carefully and answer the questions given below: 

Six persons A, B, C, D, E and F are sitting in two rows, three in each. 

E is not at the end of any row. 

D is second to the left of F. 

C, the neighbour of E, is sitting diagonally opposite to D. 

B is the neighbour of F. 
 

56. Which of the following are sitting diagonally opposite to each other? 

 1) F and C   2) D and A   3) A and C   4) A and F  

 

57. Who is facing B? 

 1) A    2) C     3)D    4) E  

 

58. Which of the following are in the same row? 

 1) A and E   2) E and D   3) C and B   4) A and B  

SECTION - B 

MENTAL ABILITY TEST – NOVEMBER 2017 
Duration : 45 minutes             Max Marks: 50 



13 
 

59. Which of the following are in one of the two rows? 

          1) FBC    2) CEB    3) DBF   4) AEF  

 

60. After interchanging seat with E, who will be the neighbours of D in the new position? 

 1) C and A   2) F and B   3) Only B   4) Only A  

 

Questions (61-65) 

Directions: Read the following information and answer the questions given below it: 

There are five friends — Sachin, Kunal, Mohit, Rahul and Rohan. Sachin is shorter than Kunal 

but taller than Rohan. Mohit is the tallest. Rahul is a little shorter than Kunal and little taller than 

Sachin. 
 

61. Who is the shortest? 

 1) Rohan   2) Sachin   3) Rahul  4) Kunal  

 

62. If they stand in the order of their heights, who will be in the middle? 

 1) Kunal   2) Rohan   3) Sachin   4) Rahul 

 

63. If they stand in the order of increasing heights, who will be the second? 

 1) Rahul   2) Sachin   3) Rohan   4) Kunal  

 

64. Who is the second tallest? 

 1) Sachin   2) Kunal   3) Rahul   4) Rohan  

 

65. Who is taller than Rahul but shorter than Mohit? 

 1) Kunal   2) Rohan   3) Sachin   4) None of these 
 

Questions (66-69) 

Directions: In the following diagram, the square represents girls, the circle tall persons, the 

triangle is for tennis players and the rectangle stands for the swimmers.  

 
66. Which letter represents tall girls who are swimmers but don't play tennis? 

 1) C   2) D    3) G    4) H 

 

67. Which letter represents girls who are swimmers, play tennis but are not tall? 

 1) B   2) E    3) F    4) None of these 



14 
 

68. Which letter represents tall girls who do not play tennis and are not swimmers? 

 1) C   2) D    3) E    4) G 

 

69. Which letter represents tall persons who are gents and swimmers but do not play tennis? 

 1) I   2) J    3) K    4) L 

 

70.  If Tall is equivalent to circle, Army men to triangle and Strong to square, indicate which 

number will represent strong Army men? 

 
1) 3    2) 4    3) 5    4) 6 

 

71. Choose one word out of the given alternatives, which cannot be formed from 

the letters of the word CONSULTATION. 

 1) CONSTANT  2) NATION   3) SALUTE   4) STATION 

 

72. If it is possible to form a word with the first, fourth, seventh and eleventh letters in the word 

‗SUPERFLUOUS', write the first letter of that word 

 1) S    2) L     3) O    4) E   

 

73. Find which one word cannot be made from the letters of the given word. 

K A L E I D O S C O P E 

1) SCALE  2) PADLOCK  3) PACKET  4) DIESEL 

 

74. How many even numbers are there in the following sequence of numbers which are 

immediately followed by an odd number as well as immediately preceded by an even number  

8 6 7 6 8 9 3 2 7 5 3 4 2 2 3 5 5 2 2 8 1 1 9 

 1) One    2) Three   3) Five   4) None of these 

 

75. In a row of boys, Deepak is seventh from the left and Madhu is twelfth from the right. If they 

interchange their positions, Deepak becomes twenty-second from the left. How many boys 

are there in the row? 

 1) 19    2) 31    3) 33   4) None of these 

 

76. If the seventh day of a month is three days earlier than Friday, what day will it be on the 

nineteenth day of the month? 

   1) Sunday   2) Monday   3) Wednesday  4) Friday 
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77. If ‗P‘ denotes ‗+‘, ‗Q‘ denotes ‗-‗, ‗R‘ denotes ‗x‘ and ‗S‘ denotes ‗’‘, which of the following 

statement  is correct? 

    1) 3 6 R 4 S 8 Q 7 P4 = 10     2)16 R 12 P 4 9 S 7 Q9 = 200 

   3) 32 S 8 R 9 = 160 Q 12 R 12   4) 8 R 8 P 8 S 8 Q 8 = 57 

 

78. Arrange the following in a meaningful sequence:  

 1. Consultation        2. Illness         3.Doctor        4.Treatment           5. Recovery 

  1) 2,3,1,4,5   2) 2,3,4,1,5   3) 4,3,1,2,5   4) 5,1,4,3,2 

 

79. Find the missing number 

6  18  15 

3  2  5 

4  3  1 

8  27 ? 

 

 1) 11    2) 6    3) 3      4) 2 

 

80. Select a figure from amongst the Answer Figures which will continue the same series as 

established by the five Problem Figures. 

             Problem Figures:                                    Answer Figures: 
              

               1)     2)     3)     4)     (E)         
 

      (A)    (B)    (C)    (D)    (E)   (1)      (2)     (3)     (4)     (5) 
        

 1) 1   2)  2   3)  3   4)  4 

 
81.   Select a figure from amongst the Answer Figures which will continue the same series as  

established by the five Problem Figures. 
Problem Figures:                            Answer Figures: 

 
      1)     2)     3)     4)     (E)          
 

     (A)     (B)    (C)    (D)    (E)   (1)      (2)    (3)    (4)     (5) 
 

  1) 1   2)  3   3)  2   4)  4 

 
82. Select a figure from amongst the Answer Figures which will continue the same series as 

established by the five Problem Figures. 

                   Problem Figures:                              Answer Figures: 
            

             1)     2)     3)     4)     (E)          
 

             (A)     (B)    (C)    (D)    (E)   (1)      (2)    (3)    (4)     (5) 
 

 

1) 1   2)  3   3)  4   4) 2 
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83. Choose the figure which is different from the rest. 

 
                 (1)      (2)     (3)     (4)     (5) 

  

 1) 4                 2)  3                          3)  1    4) 2 
 

84. Choose the figure which is different from the rest. 

 
    (1)     (2)     (3)     (4)     (5) 

 

1) 1                 2)  2                           3)  3   4)  4 
 

85. Select a suitable figure from the four alternatives that would complete the figure matrix.  

 
1) 1   2)  2   3)  3   4)  4 

86. Select a suitable figure from the four alternatives that would complete the figure matrix.  

 
1) 1   2)  2   3)  3   4)  4 

 

 
87. Choose the box that is similar to the box formed from the given sheet of paper (X). 

 
 

1)  1 only                  2)   2 only             3) 1 and 3        4) 1,2,3 and 4    
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88. Select the alternative which represents three out of the five alternative figures which when 
fitted into each other would form a complete square. 

 
   
1) 124        2) 345        3) 123         4) 135     

89. Group the given figures into three classes using each figure only once. 

 
 

 1)  1,3,9 ; 2,5,6 ; 4,7,8      2)  1,3,9 ; 2,7,8 ; 4,5,6     
 3)  1,2,4 ; 3,5,7 ; 6,8,9      4) 1,3,6 ; 2,4,8 ; 5,7,9 

 
90. Group the given figures into three classes using each figure only once. 

 
1) 1,4,7 ; 2,5,8 ; 3,6,9   2) 1,4,7 ; 2,5,9 ; 3,6,7   

3) 1,3,4 ; 2,5,8 ; 6,7,9      4) 1,2,3 ; 4,5,6 ; 7,8,9 
 

91. Select a suitable figure from the Answer Figures that would replace the question mark (?). 
Problem Figures:                                     Answer Figures: 

 
     (A)     (B)       (C)     (D)                 

 
     (A)     (B)     (C)    (D)       (1)      (2)    (3)     (4)     (5) 

 
   

1) 1   2)  2   3)  3   4)  4 
 

92. Select a suitable figure from the Answer Figures that would replace the question mark (?). 
 Problem Figures:                                      Answer Figures: 

  
    (A)       (B)    (C)     (D)        

 
   (A)      (B)      (C)     (D)       (1)      (2)    (3)    (4)     (5) 

   

 1) 1   2)  2   3)  3   4)  4 

 

javascript:%20void%200;
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93. Find the minimum number of straight lines required to make the given figure. 

 
 

1) 16                           2) 17                              3)  18                                 4) 19 
 

 
94. Find the number of triangles in the given figure. 

 
1) 27     2) 25       3)   23        4) 21       

 

95. Choose the alternative which is closely resembles the water-image of the given combination. 

 
1) 1   2) 2   3) 3   4) 4 

 
96. Identify the figure that completes the pattern. 

 
     (X)                 (1)             (2)              (3)             (4) 

  

1) 1                              2) 2                   3) 3      4) 4 

 
97. Choose the set of figures which follows the given rule. 

Rule: Closed figures losing their sides and open figures gaining their sides.  

 
 

1) 1   2)  2   3)  3   4)  4 
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98. Select the figure which satisfies the same conditions of placement of the dots as in  
Figure-X. 

 
 

1) 1   2)  2   3)  3   4)  4 

 
 

99. Find out which of the figures (1), (2), (3) and (4) can be formed from the pieces given in  
       Figure  (X). 

 

 
 

1) 1   2)  2   3)  3   4)  4 
 

100. Choose the alternative which is closely resembles the mirror image of the given combination.  

 
1) 1   2)  2   3)  3   4)  4 
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5. Since the time allotted to this question paper is very limited, you should  
     make the best use of it by not spending too much time on any one  
    question. 
 
6. Separate sheets have been provided for rough work in the Question  
     Booklet itself. 
 
7. The answers should be marked on a separate answer sheet (OMR Sheet)  
      provided in the Examination Hall. 

 
8.  The answer sheet has two parts corresponding to Part – I and Part –II of  
      the Test. 

 
9.  Answer to each question is to be indicated by shading the number of the  

      correct choice in the answer sheet with black ballpoint pen from   
      amongst the ones given for the corresponding question in the test  
      booklet. 
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SCIENCE 
 

1. The time period of a simple pendulum having a spherical wooden bob is 2 second. If the 

bob is replaced by a metallic one twice as heavy, the time period will be ___ 
       1) more than 2 seconds        2) 2 seconds           3) 1 second           4) less than 1 second 
 

2. The mass of a body at the centre of earth is ____ 
       1) Zero   2) remains constant    3) more than at the surface    4) less than at the surface 
 

3. A balloon filled with hydrogen will  

       1) continue going upwards uninterrupted   
       2) reach a particular height and remain floating      

       3) burst after reaching some height   
       4) reach a particular height and start coming down 
 

4. A person feels more weight, when the lift is  
      1) moving up with a constant velocity           2) moving down with a constant velocity   

      3) accelerating upward                   4)  accelerating downward 
 

5. Two electric bulbs marked 25W-220 V and 100W-220V are connected in series to a 440V 
supply. Which of the bulbs will fuse? 

       1) 25W     2) 100W        3) both    4) neither 
 

6. Ice cubes are added to a glass of pure water and a glass of pure spirit. The ice would be 

       1) at a higher level in water    2) at a higher level in spirit 
       3) at the same level in both    4) floating in water and sinking in spirit 
 

7. The work done against gravity in moving a box with a mass of 5 kilogram through a height 

of 3 meters is ______ 
       1) 150 joules    2) 150 newton     3) 15 joules   4) 15 newton  
 

8. If a closed bottle containing water at room temperature is taken to the Moon and then 
opened, the water will 

        1) boil               2) freeze   
        3) decompose into oxygen and hydrogen    4) no changes will occur 
 

9. In Scuba-diving, while ascending towards the water surface, there is a danger of bursting 

of lungs. It is because of 
       1) Boyle’s law                  2) Archimedes’ principle  

       3) Gay-Lussac’s law of combining volumes    4) Gram’s law of diffusion 
 

10. The power of motor pump is 2 kw. How much water per minute the pump can raise to a 
height of 10 m? (g=10m/s

2
)  

       1) 3600 Kg    2) 1500 Kg         3) 1200 Kg   4) 800 Kg 
 

11. Identify the incorrect pair. 

       1) 22carat gold- solid in solid          2) Fog – liquid in gas   
       3) Amalgam – liquid in liquid          4) Soft drinks – gas in liquid 

 
 

PART II 

SCHOLASTIC APTITUDE TEST – NOVEMBER 2017 

Duration: 90 minutes            Max Marks: 100 
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12. Which of the following accounts least for the mass of an atom? 
       1) neutrons only   2) neutrons and protons    3) electrons only    4) electrons and neutrons 

 
13. Which one of the following is/ are larger in size? 

      1) parent atom   2) anion    3) cation    4) anion and cation 
 

14.The valency of copper is 1 and 2. The valency of oxygen is 2. Then the chemical formula 
for cupric oxide is ____________. 

      1) CuO    2) Cu2O    3) Cu2O3    4) CuO2 
 

15. Which of the following statement is true about Ionic bond? 
       1) low melting and boiling point   2) non- conductor of electricity in molten state                     

3) soluble in polar solvents    4) soft and much readily broken. 
 

16. An example for Metalloid is __________ 
       1) Copper     2) Germanium    3) Carbon    4) Tungsten  

 
17. Which alloy is used for making pressure cooker? 

      1) Duralumin   2) Magnalium              3) Stainless steel   4) Nickel steel 
 

18. Match the following chemical compound with its uses. 
 a. Sodium carbonate  - i. preservative in food 

 b. Sodium bicarbonate  - ii. Aerated drinks 
 c. Benzoic acid  - iii. softening of hard water 

 d. Carbonic acid  - iv. Ingredients in antacids 
       1) a-iii, b-iv, c-i, d-ii   2) a-iv, b-iii, c-ii, d-i   

       3) a-ii, b-iii, c-iv, d-i  4) a-iii, b-i, c-iv, d-ii 
 

19. The mass of 2.5 moles of oxygen atom is _____________ 
       1) 16 g   2) 30g    3) 36g     4) 40g 

 
20. Which of the following is purely neutral? 

       1) tap water   2) distilled water  3) snow water   4) rain water 
 

21.  In a prokaryotic cell, which type of Ribosome is seen? 
       1) 10 S    2) 30 S    3) 70 S    4) 80 S 

 
22. Among the following, which one is rich in protein and RNA? 

       1) Nucleoplasm       2) Cytoplasm   3) Nucleolus   4) Leucoplast 
 

23. The plastid that acts as a carbohydrate factory in a cell is 
       1) Chromoplast      2) Chloroplast   3) Nucleoplast   4)  Leucoplast 

 
24. Which of the following terms describes pollination by the agency of ants? 

       1) Zoophily      2) Entamophily   3) Anemophily   4) Ornithophily 
 

25. Among the following types of fruits. Which example is matched correctly? 
       1) pepo- apple      2) carypsis- pea   3) cypsela-paddy   4) regma-castor 

 
26. An  example for Parthenocarpic fruit is ______ 

      1) Orange   2) Tomato   3) Mango   4) Guava 
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27. Which of the following will be the best choice of the fuel options? 
     1) Coal    2) Hydrogen    3) Diesel    4) Methane  

 
28. Which fruit’s embryo is called as Scutillum? 

     1) Millet  2) Paddy   3) Maize   4) Bean 
 

29.  Among the following, which is the best example for parasitic plant? 
      1) Monotropa   2) Viscum    3) Drosera    4) Bryophyllum 

 
30. Dementia, Dermatitis and Diarrhoea is caused due to the deficiency of which vitamin ? 

     1) B5   2) B6     3) B7    4) B12  
 

31. Dandruff and athletes foot are due to the pathogen ________ 
     1) Virus   2) Bacteria   3) Fungus   4) Protozoans 

 
32. HIV reduces  _________ in the blood. 

     1) Lymphocytes        2) Erythrocytes    3) Thrombocytes 4) Monocytes 
 

33. The process in which the membrane shrinking is called as _____ 
     1) Exosmosis  2) Osmosis   3) Plasmolysis  4) Endosmosis 

 
34.  Which one of the following has high percentage of minerals? 

      1) Milk    2) Egg    3) Fish   4) Meat 
 

35. Which gland is responsible for secretion of milk in human? 
     1) Pituitary  2) Thyroid   3) Thymus   4) Adrenal 

 
36. Among the following which is considered to possess a thin fleshy structure? 

      1) Mussel   2) Frog    3) Leech    4) Hook worm  
 

37. Which one of the following is affected when we suffer from Jaundice? 
      1) Liver    2) Pancreas    3) Spleen    4) Stomach 

 
38. The developing embryonic nervous tissue contains 

      1) Medullated neuron     2) Multipolar neuron       3) Bipolar neuron      4) unipolar neuron 
 

39. Among reptiles, ______ has a four chambered heart. 
     1) Crocodile   2) Snake   3) Monitor Lizard  4) Garden Lizard 

 
40. The capillaries reunite to form ______ 

       1) Venule    2) Arteriole    3) Vein    4) Artery  
 

 
SOCIAL SCIENCE  

 

41. The Common people who had no property were called  
 1) republics    2) senate     3) plebians     4) patricians 
 

42. How was Buddhist scriptures known as? 
 1) pitakas    2) Mahayana    3) Hinayana     4) Abhidhamma 
 

43. Who drew a sketch of the Future ship? 

 1) Leonardo davinci     2) Michael Angelo      3) Raphael    4) Titian 
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44. In whose period the Spanish inquisition was founded? 
 1) Ignatius Loyola      2) Charles V    3) Ulrich Zwingli    4) King Ferdinand 
 

45. Which plant was cultivated to regain fertility in the soil? 
 1) Clover      2) Millets       3) Sugarcane     4) Wheat 
 

46. Who invented the method of sending message through telegraphic wires? 
 1) James Brinley     2) John McAdam     3) Morse     4) James Watt 
 

47. When was Eiffel Tower built? 

 1) 1879    2) 1859    3) 1869     4) 1889 
 

48. Name the island ceded by China to England_____ 

 1) Formosa    2) Hongkong    3) Phillipines     4) Japan 
 

49. The year in which America economy came to normal Condition____ 

 1) 1934    2) 1940     3) 1941     4) 1945 
 

50. Hitler’s secret police was called____ 

 1) Ovra    2) Gestapo    3) Fuhrer     4) Swastika 
 

51. Blitzkrieg means a  
 1) Ligtning war    2) Tranch warforce   3) Submaraine warforce   4) Guerilla warforce 
 

52. In 1941, Hitler invaded____ 
 1) Russia   2) France    3) Prussia  4) Parsia 
 

53. Mrs Vijayalakshmi pandit was elected as the President of the General assembly in ___ 
 1)1963    2) 1957    3) 1955    4) 1953 
 

54. Mention the current member countries present in European union___ 
 1) 26    2) 28     3) 29   4) 32 
 

55. Subsidiary Alliance introduced by _____ 

 1) Lord Dalhousie   2) Lord Curson   3) Lord Canning 4) Lord Wellesly 
 

56. Open split in the congress occured in the sessions held at ____ 

 1) Surat    2) Lahore    3) Tripura   4) Madras 
 

57. The British Viceroy responsible for involving Indians in the Second World War was ___ 

 1) Canning    2) Dalhousie 3) Linlithgow  4) Litton 
 

58. First and last Indian Governor General of India____ 

 1) Lord Mountbatten    2) Nehru  3) Rajagopalachari 4) Kamarajar 
 

59. In 1940, Kamaraj went to Wardha to meet 
 1) Nehru    2) Gandhiji   3) Tilak  4) Jinnah 
 

60. All India Women conference was organized at ___ 

 1) Pune    2) Bombay   3) Thane  4) Satara 
 

61. Which Act enables for free and Compulsory Education to Children? 

 1) Act 21-A   2) Act 25-A 3) Act 28-A  4) Act 30-A 
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62. The Present President of India is  
 1) Dr. Abdul Kalam    2) Tmt. Meera kumar   

 3) Shri. Pranab Mukherjee    4) Shri. Ram Nath Kovind 
 

63. Father of Consumer Movement____ 

 1) Karl Marx   2) Ban-Ki-Moon    3) Abul Ahsan 4) Ralph Nadar 
 

64. The real executive head of the state Administration is  

 1) Governor   2) Judge    3) Minister   4) Chief Minister 
 

65. Headquarters of World Health Organisation is at 
 1) India    2) Rome    3) France  4) Geneva 
 

66. The first Tamil printing press was started at ____ 
 1) Tarangambadi    2) Thiruchirapalli    3) Thanjavur     4) Thoothukudi 
 

67. District which receives rain for three seasons. 
 1) Nagapattinam    2) Thiruvarur 3) Thiruvallur   4) Kanyakumari 
 

68. Who is the Head of National Disaster Management Authority? 
 1) Chief Minister   2) District Magistrate 3) District Collector 4) Prime Minister 
 

69. The study of population is known as _____ 

 1) Biography    2) Physiography 3) Demography    4) Dermotalogy 
 

70. A famous water fall in Chittar 

 1) Doddabetta    2) Rameswaram 3) Cauvery   4) Coutralam 
 

71. Which is the Non Conventional Power not in use in Tamil Nadu? 
 1) Bio fuel Energy  2) Solar Energy   3) Wind Energy 4) Tidal Wave Energy 
 

72. In Himalayas Upland Grasses are found at Altitude of 
 1) 2000 m    2) 500 m    3) 30-200 m  4) 1000 m 
 

73. Major Energy source in India 
 1) Petroleum    2) Natural gas    3) Wind Energy   4) Coal 
 

74. Golden Fibre crop 
 1) Tea    2) Jute     3) Coffee     4) Tobacco 
 

75. Pioneer of Meteorological Satellite 

 1) LANDSAT    2) TIROS-1    3) SPOT     4) ERTS 
 

76. International Day for Disaster Reduction 

 1) October 2    2) October 12    3) October 13    4) October 21 
 

77. Marshall’s Law of Demand 
 1) Price Decreases Demand increases  2) Price Decreases Demand decreases 

 3) Price Increases Demand increase  4) Price Increases Demand remains same 
 

78. Net Domestic Product is 

 1) Gross National Product (-) Depreciation 
 2) Gross Domestic Product (-) Depreciation 

 3) Gross National Product (-) Per capita Income 
 4) Gross Domestic Product (-) Per capita Income 
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79. Green Revolution was introduced by 

 1) Indian Council of Agricultural Research 2) Indian Council of Industrial Research 
 3) Food Corporation of India   4) Indian Science Research Organisation 
 

80. The first Atomic Power station was started at 
 1) Chennai    2) New Delhi     3) Kambhat     4) Trombay 
 

 

 

MATHEMATICS 
 

81. If log 10 7 = a, then log 10 (1/ 70) = _______________ 
 

      1)  –(1+a)    2) (1+a)
-1

     3) a/10    4) 1/10a 
 

82. In the figure below if    OBA is an equilateral, then the co-ordinates of vertex B are _____ 
 

 
 

     
 

  
 

 
 

     1) ( 3𝑎, 𝑎)                    2) (𝑎,  3𝑎)       3) (𝑎,0)    4) (𝑎, 𝑎) 
 

83.  The 9
th
 term of an AP is 449 and 449

th
 term is 9. The term which is equal to zero is ____ 

      1) 508
th
                        2) 502

th      
3) 501

th 
   4) 458

th 

 

84. If x =
 10+  2

2
 and y =

 10−  2

2
 , then the value of log 2 (x

2
+ xy + y

2
) is ______ 

      1) 0                               2) 2      3) 3      4) 4 
 

85. The hypotenuse of a right angled triangle is √52 cm. If the smaller and the larger of the 
remaining two sides are respectively tripled and doubled, then the new hypotenuse will be 

√288 cm. The original lengths of these two sides were respectively 
     1) 4cm and 6cm           2)  2cm and 3cm         3) 6cm and 8cm   4) 5cm and 12 cm 
 

86. In an office, 
3

4
 
th 

of the staff can neither type nor take shorthand. However 
1

5

th
 can type and 

1

3
 rd can take shorthand. What part of the whole staff can do both? 

     1) 1/5                           2) 3/40      3) 13/40       4) 17/60 
 

87. The radius of a wire is decreased to one-third and its volume remains the same. The new 

length is how many times the original length? 
     1)  1 time   2) 3 times    3)  6 times     4) 9 times 

 
88. If the difference of (10

25
-7) and (10

24
+x) is divisible by 3 then x is equal to  

      1) 3     2) 2    3) 6      4) 1 
 

89. If α ≠ β but α
2
= 5α-3, β

2
= 5β-3 then the equation having the roots α/β and β/α is ______ 

      1) 3x
2
+19x+3=0    2) 3x

2
-19x-3=0       3) 3x

2
-19x+3=0      4) x

2
-16x+1=0    

 
 

(2𝑎,0) 

B 

O 

Y’ 

X’ X A 

Y 
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90. The curved surface area of a cylindrical pillar is 264 m
2
 and its volume is 924 m

2
. Find 

the ratio of its diameter to its height. 

      1) 3:7    2) 7:3      3) 6:7     4) 7:6 
 

91. AB and CD are two parallel chords of a circle such that AB= 10 cm and CD=24 cm. If 
the chords are on the opposite sides of the centre and the distance between them is 17 cm, 

then the radius of the circle is  
      1) 14cm    2) 10cm     3) 13cm    4) 15cm 

 
92. If the sum of the interior angles of a regular polygon measures upto 1440

0
, how many 

sides does the polygon have? 
      1)  10   2)  12    3)  14     4)  16 

 
93. A graph of the linear equation 2x+4 = 3x+1 will meet y-axis at the point _______ 

      1)  (3,0)    2) (0,3)     3)  (0,-1)    4) does not meet 
 

94. A stairway 10 ft high is such that each step accounts for half a foot upward and one foot 
forward. What distance will an ant travel if it starts from ground level to reach the top of 

the stairway? 
      1) 30ft    2) 33ft    3) 10ft    4) 29 ft 

 

95. The value of x in the equation √2x√2x+4 = 4 is ___________ 

      1) 5    2)  6    3) 7      4)  8 

 

96. What must be added to 
x

y
 to make it  

y

 x
    

      1)  
y−𝑥

𝑦2𝑥2
      2) 

𝑦2−𝑥2

xy
    3)    

xy

x+y
           4)  

𝑥2y2

𝑥2+𝑦2
 

 
97. The sum of consecutive integer numbers is 50. How many numbers are there? 

      1)  2   2) 4    3) 6     4) 8 
 

98. The value of  13
4

  is _______ 

      1)  1328
      2)  1348

    3)  1388
     4)  1368

 

 

99. If x + 
1

x
 = 3, the value of x6

 + 
1

x6 is ________ 

      1)  927    2) 114    3) 364      4) 322 

 
100.  In two similar triangle ABC and PQR if their corresponding altitudes AD and PS are in 

ratio 4:9. Find the ratio of the area of         ABC to that of           PQR 
       1) 16:81    2)  32:92   3)  33:94     d)  36:98 
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GJr;Nrup muR 

gs;spf; fy;tp ,af;ffk; 

tpdhr; rpw;NwL 
 

Njrpa jpwd; fhZk; (Kjy; epiy) Nju;T – etk;gu; 2017 
(gj;jhk; tFg;G) 

 
gFjp – I 

nkhopg;ghlk; kw;Wk ; kdj;jpwikj;; Nju;T 
 

Nju;T ika vz;:             Nju;T vz;: 
 

Fwpg;Gfs; 

  

   
 

    
 

1. midj;J tpdhf;fSf;Fk; tpilaspf;fTk;. tpdhf;fs; xt;nthd;Wk; xU kjpg;ngz;izf;    
  nfhz;bUf;fpwJ. 
 

2. midj;J tpdhf;fSk; fl;lhakhdjhy; tpilaspg;gjw;F Kd;G KO tpdhj;jhisAk;  
  gbf;f Kay Ntz;lhk;. 
 
3. Kjy; tpdhitj; njhlq;fp tpdhit Kbf;Fk; tiuapy; xU tpdhTf;Fg; gpd; xU   
  tpdhthf tpilaspf;f KayNtz;Lk;. 
 
4. VNjDk; tpdhTf;F tpil njupahtpl;lhy;> mjw;fhf mjpf fhyj;ijr; nrytplhJ>  
  mLj;j tpdhtpw;Fr; nry;y Ntz;Lk;. fhyk; fpilg;gpd; Kjypy; tpilaspf;fhky;  
  tpl;Lr; nrd;w tpdhf;fSf;F tpilaspf;f Kay Ntz;Lk;. 
 
5. ,e;j tpdhj;jhSf;F xJf;fg;gl;bUf;Fk; fhyk; kpfTk; FWfpajhf ,Ug;gjhy; ve;j  
  tpdhtpw;Fk; mjpf fhyj;ijr; nrytopf;fhky; KOepiw Kaw;rpia mjw;fhf cgNahfpf;f  
  Ntz;Lk;. 
 
6. tpdhr; rpw;Nwl;bNyNa> cj;Njr Ntiyf;fhf filrp gf;fj;jpy; ntw;Wj;jhs;fs;  
  nfhLf;fg;gl;bUf;fpd;wd. 
 
7. Nju;tiwapy; nfhLf;fg;gLk; jdp tpilj;jhspy; (OMR Sheet) tpilfs; Fwpf;fg;gl    
  Ntz;Lk;. 
 
8. gFjp – I> gFjp – II ,itfSf;Nfw;g tpilj;jhs; ,U gFjpfisf; nfhzLs;sJ.  
  gFjp – I  m kw;Wk; M vd ,U gpupTfisf; nfhz;Ls;sJ. khztu;fs; ,U    
  gpupTfSf;Fk; fl;lhakhf tpilaspf;f Ntz;Lk;. 
 
9. xt;nthU tpdhtpw;fhd rupahd tpilia nfhLf;fg;gl;litfspypUe;J Nju;e;njLj;J>  
  mjdpd; vz;iz tpilj;jhspy; fUg;G ghy;ghapd;l; Ngdhtpdhy; epoypLjy; Ntz;Lk;. 
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தமிழ் 

1. ம஥ய்ம஦ழுத்துகளப எனிக்கும் பதோது ப஬றுதட்ட______ எனிகளப ஢ோம் 
பகட்கனோம். 
1) இ஧ண்டு  2) னென்று  3) ஍ந்து  4) ஆறு 
 

2. ம஬ண்தோ஬ில் ’அஃது’ ஋ன்னும் ஈற்றுச்சீரில் ஬ரும் ஏ஧ளச஦ின் ஬ோய்தோடு___  
1) ஢ோள்  2) ஥னர்  3) கோசு  4) திநப்ன௃ 
 

3. ஆ஧ம்தம் ஋ன்த஡ன் ஡஥ிழ்ச்மசோல் ______ 
  1) ம஡ோடக்கம் 2) ன௅஡ல் ஢ிளன 3) து஬க்கம்  4) ம஡ோடர்ச்சி 
 
4. ‘஬ிளபந்து ன௅஡ிர்ந்஡ ஬ிழுன௅த்து’ ஋ணக் கூறும் நூல் _____ 

1) ஥ளனதடுகடோம் 2) தட்டிணப்தோளன 3) அக஢ோனூறு  4) ஥துள஧க்கோஞ்சி 
 

5. இங்கினோந்து ஢ோட்டு ஥கோ஧ோ஠ி஦ோர் ஬ிக்படோரி஦ோ கோளன஦ில் கண் ஬ி஫ித்஡தும் 
ன௅஡னில் தடித்஡ நூல் ____ 
1) ளததிள் 2) கம்த஧ோ஥ோ஦஠ம்  3) ஡ிருக்குநள் 4) ஡ிருக்கு஧ோன் 
 

6. ’஢ோத்ம஡ோளன஬ில்ளன’ – திரிக்கும் ன௅ளந ____ 
  1) ஢ோ + ம஡ோளனவு + இல்ளன    2) ஢ோத்ம஡ோளனவு + இல்ளன 
  3) ஢ோ + ம஡ோளன஬ில்ளன  4) ஢ோத்ம஡ோளன + இல்ளன 
 
7. ______஬ிழுக்கோடு அபவுக்குத் ஡ி஧ோ஬ிட ம஥ோ஫ிக்கூறுகளபக் மகோண்டுள்ப எப஧ 
஡ி஧ோ஬ிட ம஥ோ஫ி ‘஡஥ிழ்’ 

  1) ஋ழுதது  2) ஋ண்தது  3) ம஡ோண்ணோறு 4) ஍ம்தது 
 
8. தோ஧஡ி஦ோர் இ஦ற்நி஦ உள஧஢ளட இனக்கி஦ங்களுள் என்று ______ 
  1) கண்஠ன் தோட்டு 2) தோஞ்சோனி சத஡ம் 3) ஞோண ஧஡ம் 4) இப஦சு கோ஬ி஦ம் 
 
9. ஆணித் ஡ிங்கபில் ஢ளடமதறும் ஬ி஫ோ  _______ 
  1) ஥ஞ்சு ஬ி஧ட்டு     2) ஡ீ஥ி஡ி ஡ிரு஬ி஫ோ  
  3) ஊஞ்சல் ஡ிரு஬ி஫ோ    4) அறு஬ளடத் ஡ிரு஬ி஫ோ 
 
10. ‘ம஡ோழுப஡ோர்’ ஋ன்த஡ன் இனக்க஠க்குநிப்ன௃ _______ 
   1) உரிச்மசோற்மநோடர்    2) ஬ிளணத்ம஡ோளக   
   3) ஬ிளணன௅ற்று    4) ஬ிளண஦ோனள஠னேம் மத஦ர் 
 
11. அறு஬ளடத்஡ிரு஬ி஫ோ ஋ன்ந மத஦ரில் மகோண்டோடும் ஢ோடுகள் _____ 
   1) ஜப்தோன், ஜோ஬ோ    2) சிங்கப்ன௄ர், ஥பனசி஦ோ  

3) இங்கினோந்து, அம஥ரிக்கோ  4) இந்஡ி஦ோ, ஡ோய்னோந்து 

gpupT – m  
nkhopg;ghlr; Nrhjid – etk;gu; 2017 

fhyk; : 45 epkplq;fs;          nkhj;j kjpg;ngz;fs;: 50 
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12. ‚ன௃நோ கூவும்‛- இ஡ில் அள஥ந்துள்ப ஬ழு_________ 
   1) கோன ஬ழு  2) ஥஧ன௃ ஬ழு 3) ஡ிள஠ ஬ழு  4) இட ஬ழு 
 
13. ஥துள஧த்஡஥ிழ்ச் சங்கத்ள஡த் ‘஡஥ிழ்ப஬னி’ ஋ன்று குநிப்திடும் நூல்___ 
   1) தரிதோடல்  2) ன௃ந஢ோனூறு 3) ஢ற்நிள஠  4) குறுந்ம஡ோளக 
 
14. ஡஥ிழ்஬஫ி த஦ிலும் ஥ோ஠஬ர்களுக்கு அ஧சுப் த஠ி஦ில் பச஧ ஋த்஡ளண 
஬ிழுக்கோடு அபவு எதுக்கித் ஡஥ி஫க அ஧சு ஆள஠ ம஬பி஦ிட்டுள்பது___ 
1) 30  2) 35   3) 25   4) 20 
 

15. ஢஥க்கு ஢ல்ன துள஠_____ 
   1) அநிவு       2) மசல்஬ம்  3) எழுக்கம்  4) மதோருள் 
 
16. தரி஡ி஥ோற் களனஞரின் ஆங்கினப் பத஧ோசிரி஦ர் ______ 
  1) ஬ில்னி஦ம் ஥ில்னர்  2) ஥ோக்சு ன௅ல்னர்  3) டோல்ஸ் டோய்  4)அரிஸ்டோட்டில் 
 
17. ஌னோ஡ிப் தோடனில் கூநப்தடும் அநம஢நிக் கருத்துகள் _____ 
  1) ஢ோன்கு  2) இ஧ண்டு  3) ஆறு  4) ஍ந்து 
 
18. தளக஬ரின் மசருக்ளக அறுப்தது_____ 
  1) மசல்஬ம் 2) தளடக்கரு஬ிகள் 3) ஬஧ீம்  4) மகோளட 
 
19. ’஢டளன’ ஋ன்த஡ன் மதோருள் _____ 
  1) இன்தம்  2) துன்தம்  3) எழுக்கம்  4) பசோர்வு 
 
20. இ஬ற்நில் இண஥ிகல் இடம் மதறு஬து 
  1) ம஬ற்நிளன 2) கரும்தனளக 3) தோசளட  4) னெதூர் 
 
21. கம்தரின் ச஥கோனப் ன௃ன஬ர் ______ 
 1) எட்டக்கூத்஡ர் 2) கோபப஥கப்ன௃ன஬ர் 3) ஡ிரு஢ோவுக்க஧சர் 4)஥ோ஠ிக்க஬ோசகர் 
 
22. ‘க஬ண஥ோகப் தடி’ ஋ன்தது ____ ம஡ோடர் 
  1) ஡ணி஢ிளனத் ம஡ோடர்  2) கனள஬த் ம஡ோடர்  
  3) கட்டளபத் ம஡ோடர்        4) ம஡ோடர் ஬ிளணத்ம஡ோடர் 
 
23. ஋ழு஬ோய் ஡ோபண மசய்னேம் ம஡ோ஫ிளன உ஠ர்த்து஬து _____ 
  1) ஡ன்஬ிளணத் ம஡ோடர்  2) திந஬ிளணத் ம஡ோடர்            
  3) மசய்஬ிளணத் ம஡ோடர்  4) மதோருள்஥ோநோ ஋஡ிர்஥ளநத்ம஡ோடர் 
 
24. ஡ிரு஢ோவுக்க஧சள஧ ஆட்மகோண்ட ப஢ோய் _____ 
  1) ஬ோ஡ ப஢ோய் 2) சூளன ப஢ோய் 3) அம்ள஥ ப஢ோய்  4) கோய்ச்சல் 
 
25. ’அ஧ோ’ ஋ன்த஡ன் மதோருள்________ 
  1) தோம்ன௃      2) குப஬ி       3) தநள஬       4) ஬ண்டு 
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HINDI 

1. जनैेंद्र कुभाय की कहानी ? 

1) नीरकण्ठ     2) फड ेबाई साहफ      3) चिडडमा की फच्िी     4) घीसा 
 

2. जननी जन्भबूमभ कविता के कवि ? 

1) सूमयकाॊत त्रिऩाठी   ननयारा     2)  भैचथरी शयणगुप्त    

3)  बगिती ियणिभय      4)  श्री नगीन िन्द्र प्रदीऩ 
 

3. नेहुरू जी को ककस नदी से विशेष प्रेभ है ? 

1) कृष्णा      2)  कािेयी      3) गॊगा      4)  गोदाियी 
 

4. नीरकॊ ठ ककस देि का नाभ है ? 

1)  विष्णु      2)  मशि     3)  श्रीयाभ     4)  श्रीकृष्ण 
 

5. प्रेभिॊद का ऩहरा नाभ ? 

1) प्रसादयाम    2)  गुराफयाम      3)  निाफयाम      4) धनऩतयाम 
 

6. सम्राट् शब्द का स्त्िीमरॊग शब्द ? 

1) सम्राज्ञी     2) याज्ञी      3)  देियानी      4)  यानी 
 

7. दानीकुभणन को ककसने गद्दी से हटामा ? 

1) इरॊकुभणन    2)  इरॊगोिन       3)   िात्तनाय      4) चििनाय 
 

8.   नदी शब्द का ऩमायम िािी शब्द ? 

1) सरयता     2) सयोिय      3)  सभुद्र    4) सागय 
 

9. भगध- कमरॊग मदु्ध  की ऐनतहामसक घटना ऩय मरखित एकाॊकी ? 

1) िॊद्रगुप्त       2) आषाढ का एक ददन       3)  अशोक का शस्त्ि त्माग       4)  अॊधेय नगयी 
 

10. विशेष गुणों के आधाय ऩय यक्त ककतने िगों भें फाॉट ददमा जाता है ? 

1) एक       2)  दो       3)  तीन     4)  िाय 

 

11. आिामय धभयिीय बायती के ननजी ऩुस्त्तकारम की ऩहरी ककताफ ? 

1) बगिद्गीता     2)  देिदास       3)   काभामनी       4)  याभामण 
 

12. चिडडमा की फच्िी ककस को ऩसॊद रगी ? 

1) देिदास को          2) याभदास को     3)  भाधिदास को      4)  जेसुदास को 
 

13.  यिीॊद्रनाथ ठागूय की कहानी ? 

1) आल्फभ          2) फड ेबाई साहफ       3)  हाय की जीत       4)  काफूरीिारा 
 

14.  प्रामश्चित कहानी भें ककस का प्रमश्चित कयना ऩडा ? 

1) त्रफल्री का      2) कुत्ते का        3)  गधे का       4)  गाम का 
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15.  दादी भाॉ कहानी के कहानीकाय ? 

1) मशिप्रसाद मसॊह    2) मशिभॊगरमसॊह     3)  अमोध्मामसॊह     4)  प्रेभिॊद 
 

16. भेयी कहानी ककस की आत्भकथा है ? 

1) इॊददयागाॊधी की     2) भहात्भागाॊधी की      3)  नेहुरू जी की     4)  सयदाय ऩटेर की 
 

17. याभिरयतभानस ककस की यिना है ? 

1) तुरसीदास      2) सूयदास        3)  कफीयदास      4)  यहीभ 
 

18. िाच्म ककतने प्रकाय के हैं ? 

 1) दो        2) तीन        3) िाय      4) छः 
 

19. अचधकयण कायक चिह्न  ? 

1) का      2) को       3)  ऩय       4)  स े
 

20.  स्त्िाभी वििेकानॊद औय गुरु याभकृष्ण ऩयभहॊस की ऩहरी भुराकात सन ्------ भें हुई ? 

1) 1880        2) 1980         3)  1904       4)  1889 
 

21.  ननदेशक विशेषण का दसूया नाभ ? 

1) गुणिािक विशेषण     2) सॊख्मािािकविशेषण     3)  बाििािकसॊज्ञा     4)  साियनामभकविशेषण 
 

22.  िैद्मनाथमभश्र ककस कवि का असरी नाभ है ? 

 1) धभयिीयबायती     2) याभिॊद्रशुक्र     3)  नागाजुयन      4)  मशिप्रसादमसॊह 
 

23. प्रत्मम का दसूया नाभ ? 

1) सगय       2) विसगय       3)  उऩसगय      4)  ऩयसगय 
 

24. राम ने फऱ ऱाया - शुद्ध कीश्जए ? 

1) याभ ने पर रामे     2) याभ को पर रामा     3)  याभ से पर रामा     4)  याभ पर रामा 
 

25. हभाये शयीय भें रग बग ककतने रीटय िून होता है ? 

1) ऩाॉि          2) तीन        3)  सात        4) िाय 

 

FRENCH 

1. Vous __________ (s‘appeler) comment ? 

 1) appelez  2) vous appellez 3) vous appelez 4) appellez 
 

2. Vladimir est de Moscou. Il est ___________. 
 1) américain  2) russe  3) mexicain  4) belge 

 
3. Tu __________ quel âge ? 

  1) es   2) as   3) ai   4) est 
 

4. C‘est un stylo de Maria. C‘est __________ stylo. 
  1) sa   2) ta   3) ton   4) son 
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5. Avec le petit-déjeuner, nous prenons toujours __________  thé. 
 1) du   2) de la  3) de    4) des 
 

6. Mon lit est __________ ma chambre. 

 1) entre   2) au milieu de 3) sous   4) sur 
 

7. Elle __________ avec son père au marché.  
 1) vais   2) vas   3) va   4) allez 
 

8. Tu ___________ à Paris demain soir. 
 1) seras   2) sera   3) auras  4) aura 
 

9. Nathalie ___________ chez son amie 

 1) viens arriver  2) vient arriver 3) viens d‘arriver 4) vient d‘arriver 
 

10. Je ___________ le repas. 
 1) vais commande      2) vais commander      3) va commander       4) vais commanderai 
 

11. __________ monument est célèbre. 

 1) Ce   2) Cette  3) Cet   4) Ces 
 

12.  Il faut que tu  _________ le petit-déjeuner. 
 1) prenne   2) prends  3) prennes  4) prend 
 

13.  Si tu __________ bien, tu auras de bonnes notes. 
 1) écrit   2) écris   3) écrira  4) écrire 
 

14.  Elle _________ été malade une semaine. 

 1) est   2) a   3) as   4) es 
 

15. Nous finissons nos exercices __________. 
 1) facile   2) faciles  3) facilment  4) facilement 
 

16. Vous _________ m‘aider, s‘il vous plaît ? 

 1) pourrais  2) puissiez  3) pourriez  4) pouriez 
 

17. Je donne du lait à mes chats. Je __________ donne du lait. 

1) leur   2) lui   3) les   4) leurs 
 

18. __________ un compte, vous aurez la carte bancaire. 
 1) Ouvrant  2) En ouvrant  3) Ouvrir  4) En ouvrir 
 

19. J‘ai perdu mon carnet de chèques et  __________ carte bancaire. 

 1) mon   2) mes   3) tes   4) ma 
 

20. C‘est une amie ___________ je connais depuis mon enfance. 
 1) qui   2) que   3) ou   4) où 
 

21.  Elle __________ les cheveux courts et les yeux bleus. 

 1) avais              2) avaient   3) avait  4) avais eu  
 

22.  La __________ du congrès est de 4 jours. 
 1) durée   2) duré   3) dure   4) durer 
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23.  Payez 100 roupies pour qu‘on ___________ organiser une visite en ville. 
 1) puisses   2) puisse  3) pouvait  4) pourrait 

 
24.  Elle ___________ à Pondichéry depuis deux jours. 

 1) a arrivé   2) a arrivée  3) est arrivé  4) est arrivée 
 

25. Il souhaite le bonjour à son cousin. Il __________ souhaite le bonjour. 
 1) le   2) leur   3) lui   4) La 

 

TELUGU 


      



        



      



    
   



       



    



    
    



   
    



       


      

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
      



      



    



     



        



      



      



       



     



      



 



 
 
 
 


     
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
       



    
   



MALAYALAM  

1. ©ùâÌí ®K ÄâÜßµÞ ÈÞÎJßW ¥ùßÏæM¿áK ØÞÙßÄcµÞøX 

1) ®¢.¿ß  2)².®X.Õß   3)Éß.Øß.µáGß µr×íÃX  4)ÎáIçÛøß 

 

2. ÕÏÜÞV ¥ÕÞVÁí çÈ¿ßÏ Øá·ÄµáÎÞøßÏáæ¿ µrÄß 

1) ¥OÜÎÃß  2)µáùßEßÉâAZ     3)øÞdÄßÎÝ  4)ÎáJáºßMß 

 

3. Ü{ßÄ ·ÙÈBæ{Kí ØuwøcæJ ÕßçÖ×ßMßºîÄÞøí 

1) ¥øßØíçxÞGßW 2)çØÞdµGàØí    3)¦ÈwÕViÈX 4) çÉïçxÞ 

 

4. ÄÞæÝ æµÞ¿áJÕÏßW ÙøßÄçÎÞÙÈ¢ ®K µÅÏíAí ¥ÈáçÏÞ¼cÎÜïÞJÄí 

1)È·ø ¼àÕßÄJßæa ¥ØbÞÄdLc¢  

2)ÎHßçÈÞ¿á¢ dÉµrÄßçÏÞ¿áÎáU §ÝÏ¿áM¢  

3)ËïÞxßæÜ ÄÞÎØAÞV ÄNßÜáU ØuÙrÆ¢  

4)ÉøßØíÅßÄßæÏAáùßºîáU dÉÄcÞÖ 

 

5. ÄáÝ +¦X _ ÄáÝÏÞX §ÄßæÜ ØtßÏáæ¿ çÉøí 

1)¦·ÎØtß   2)¦çÆÖØtß    3)ÆbßÄbØtß  4)çÜÞÉØtß 

 

6. ¦µáÜ¢ ®K ÉÆJßæa ¥Vj¢ 

1)Éøß·ÃÈ    2)ØíçÈÙ¢     3)¦·Î¢   4)Æá:¶¢ 

 

7. ¥¼·¼ÞLø¢ ®K µÅ ÕÞÏÈAÞçøÞ¿í ÉùÏáKÄí 

1)µÝßÕßÈÈáØøßºîí ¦d·ÙßAáµ  2)¦d·Ù¢ ØÞÇßAáµÏßÜï 

 3)ÈzæºÏîáµ     4)µâ¿áÄW ¦d·ÙßAáµ 

8. ¼àÕßÄJßæa µ¿ÜßæÈ µÕßÄÏáæ¿ Î×ßMÞdÄÎÞAßÏ µÕß ¦øí 

1)®X.®X.µAÞ¿í  2)èÕçÜÞMßUß   3)¦xâV øÕßÕVN 4) ÕÏÜÞV 

 

9. ¦VMá¢ Õß{ßÏáÎÞæÏJß µ{µ{ 

  ÎÞµÞÖFßÄ ·àÄµBZ (ÈÞÜßÄZ ÉâÕí) 

   ¦VMáÕß{ßÏáÎÞÏí ®JßÏÄÞøí? 

1)çÄÈàºîµZ 2)µß{ßµZ 3)ÉâOÞxµZ  4)ÄáOßµZ 

 

10.µbßxßLcÞ ØÎøµÞÜJí ¼ÏßÜßW Õºîí æÈÙíùá ®ÝáÄßÏ µrÄß? 

1)¦vµÅ    2)²øÑX ÎµZAÏºî µJáµZ  

3) §LcæÏ µæIJW  4)ÕßÖbºøßdÄÞÕçÜÞµÈ¢ 
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11)ØVAÞV ©çÆcÞ·ØíÅøáæ¿ ¥ÈÞØíÅÏá¢ dØñà ¼àÕßÄJßæa èÆÈcÄÏá¢   

²øáçÉÞæÜ ¥ÕÄøßMßAáK Øß.Õß dÖàøÞÎæa µÅÏÞÃí 

1)ºßÆ¢Ìø¢ 2)Éáøá×ÞVj¢  3)ØÞfß      4)ÕÞØñáÙÞø 

 

12)ÕÝßÕß{Aí ®K ÉÆ¢ Õßd·ÙßºîÞW 

1)ÕÝßÏá¢Õß{Aá¢  2)ÕÝßÏáæ¿ Õß{Aí 3)ÕÝßÏßæÜ Õß{Aí 4)ÕÝßÏÞÜáU Õß{Aí 

 

13)ÕÞÈßW ÎáÜïæÎÞGáµZ ÕÞøßÕßÄùßæµÞIí ÕæKJáKÄí 

1)ÉµW     2)Øtc       3)ÉáÜøß   4)øÞdÄß 

 

14) ©Uâøßæa ÎÙÞµÞÕc¢ 

1)µÜíÉÖÞ¶ß    2)µVHÍâ×Ã¢   3)©ÎÞçµø{¢  4)Éß¢·{ 

 

15. ¥ÏîMÈá¢ ÕøßAÉïÞÕá¢ ÄNßÜáU ¦víÌtJßæa µÅÏÞÃí 

1)çÄX ÕøßA  2)ÈßTÙÞÏæa ÈßÜÕß{ß   3)æÉÜÎùáÄ 4)µáMßÕ{µZ 

 

16. 'çdµÞÇ¢ ÉøßÄc¼ßçAÃ¢ ÌáÇ¼È¢" _ ®Kí ¦çøÞ¿ÞÃí dÖàøÞÎX ùÏáKÄí? 

    1) ÍøÄçÈÞ¿í    2) ØàÄçÏÞ¿í     3) ÜfíÎÃçÈÞ¿í 4) ÆÖøÅçÈÞ¿í 

 

17. ÄÞæÝæAÞ¿áJÕÏßW µÅµ{ßAáÉçÏÞ·ßAáK ÕÞÆcçÎÄí? 

1) ÄßÎßÜ    2) µáÝW        3) çºBßÜ  4) ÎßÝÞÕí 

 

18. ºßø¾í¼àÕßµ{ßW dÉÎá¶Èá¢ ®KÞW ÖÉßAæMGÕX ®Ká 

ÕßçÖ×ßMßAáKÕÈáÎÞÏ ÎÙÞÍÞøÄ µÅÞÉÞdÄ¢ ¦øí? 

1) Íà×íÎV    2) çdÆÞÃV       3) ÆáçøcÞÇÈX  4) ¥ÖbjÞÎÞÕí 

 

19. ¥N ®K µÅ Ì×àùßæa ¯Äí µãÄßÏßW ÈßæK¿áJßGáUÄÞÃí? 

1) ¼zÆßÈ¢     2) ²ÞVNAáùßMí   3) ÕßÖMí    4)ÌÞÜcµÞÜØ¶ß 

 

20.RºdµÕVJßÈßÏáæ¿ ¼zÎÞÃÕVAí ¦øáæ¿ ÎáKßÜá¢ ÄÜµáÈßAßÜïQ ¦æø    

µáùßºîÞÃí µÅÞµÞøß §BæÈ ÉùÏáKÄí? 

1) ÎßTßØí ÄÜJßæÈ µáùßºîí  2) çdÉÎæÏ µáùßºîí  

3)ØáÇàùßæa ÍÞøcæÏ µáùßºîí  4) ¦ÖæÏ µáùßºîí 

 

21) ÌÞÙá¼X ®K ÕÞAßæa ¥Vj¢ 

1)ØçÙÞÆøX     2)fdÄßÏX    3)µÞÜÉáøá×X     4) µã×íÃX 

 

22) æÉøáO¿Õ¢ dÖàÇøçaÄÜïÞJ µãÄß ¯Äí? 

1)²øá ØCàVJÈ¢çÉÞæÜ  2)ÈÞøÞÏÃ¢  

3) øÞ¼ÞCÃ¢     4)çÕÈÜßW ÉâAáK Îø¢ 

 

23) ØFÞøØÞÙßÄcµÞøÈÞÏ ®Øí.æµ. æÉÞxAÞ¿ßÈí ¼í¾ÞÈÉàÀ¢ ¥ÕÞVÁí 

çÈ¿ßæAÞ¿áJ çÈÞÕW ¯Äí? 

1)²øá æÄøáÕßæa µÅ 2)Õß×µÈcµ 3)èÈW ÁÏùß 4)²øá çÆÖJßæa µÅ 

 

24) “µÞ{ßÆÞØX Äßµºîá¢ ÎÈá×cµÅÞÈá·ÞÏßÏÞµáKÄí Äæa ÈÞ¿µB{ßÜÞÃí”­ 
µÞ{ßÆÞØæa ¦ÆcæJ ÈÞ¿µçÎÄí? 

1)ÖÞµáL{¢  2)ÎÞ{ÕßµÞ·íÈßÎßdÄ¢    3)ÕßdµçÎÞVÕîÖàÏ¢    4)ø¸áÕ¢Ö¢ 
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25.².Õß.Õß¼Ïæa µ¿WÄàøJí ®K µÅÏßæÜ ÈÞÏµµÅÞÉÞdÄ¢ ¦øÞÃí? 

1)ÎøÏíAÞV  2) ÉÞùÞÕáµÞøX   3)µáGcTX ÎÞMß{   4) æÕUÞÏßÏMX 

 

ENGLISH 
 

26. Match the ‗IF Clause‘ with the correct main clause.   If it had rained 
1) We would stay at home.    2) We will have stayed at home. 

3) We would have stayed at home.    4) We will stay at home. 
 

27. Swarna didn‘t do her homework last Monday. ___________?  
        Choose the suitable question tag. 

1)  didn‘t  he 2) did she    3) do she 4) don‘t  she 
 

28. ‗‘……..…my manhood is cast down in the flood of remembrance‖. The figure of speech 
employed here is 

1) Simile 2) Hyperbole 3) Metaphor 4) Personification 
 

29. Choose the right plural form for ‗Economics‘ 
1) Economic 2) Economices  3)Economical                4) none of the above 

 
30. Find out the odd pair. 

1) Twigs – Nest       2) Wood – Furniture      3) Pitcher – Pottery     4) Gold – Ornament 
 

31. Find out the right structure applied in the following question. 
       When shall we meet again 

1) QW+MV+S+HV     2) QW+S+HV+MV      3)QW+HV+S+MV      4) QW+S+MV+HV 
 

32. Choose the phrase that is closest in meaning: 
       The summer temperature soars past 105 

◦
F in North India 

1) Runs forward       2) grows over               3)Increases to          4) flies high 
 

33. Choose the correctly punctuated sentence 
1) we have lifted off, I yelled!  2) ―we have lifted off,‖ I yelled! 

3) ―we have lifted off‖, I yelled!  4) we have lifted off, I yelled. 
 

34.  Find out the apt idiom. 
       After Ajith was released from prison he decided to become an honest man. 

1) Devil‘s Advocate    2) Turn over a new leaf     3) Hit below the beet     4) Gift of the gap 
35. What is the expansion of GST? 

1) Grant Service Tax      2) Goods and Services Tax    
3) Goods Service Tax   4) none of the above 

 
36.  My friend is a heart patient. Please advise him to whom he has to consult. 

1)  Cardiologist      2) Orthopaedist             3)  Neurologist  4)  Dermatologist 
 

37. UNESCO is in the form of _____ 
1) Abbreviation       2) Acronym                   3) Contraction          4) none of the above 

 
38. Find the right answer 

       __________ is the repetition of an initial consonant sound in the poetic line. 
1) Personification      2) Alliteration            3) Oxymoron  4) Simile 
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39.  Transpose the letters, ‗Funeral‘ and form an antigram 
1)  steel       2)  steal             3)  stele   4)  steele 

 
40.  Match the following 

1.  On account of  -  A begin a new course. 
2. to look after  -  owing to. 

3. to take a new turn -  in the middle of. 
4. In the midst of - protect/ to keep safe. 

1) 1-b, 2-d, 3-a, 4-c     2) 1-c, 2-a, 3-d, 4-b      3) 1-c, 2-b, 3-d, 4-a       4) 1-b, 2-c, 3-d, 4-a 
 

41. Choose the appropriate meaning for the underlined idiom. 
He used to make a mountain out of a mole hill. 

1) exaggerate a problem  2) in big trouble 3) anywhere in earth  4) do everything possible 
 

42. Select the correct synonym for ‗IRREFUTABLY‘ 
1) habituated  2) shiver  3) fierce  4) convincingly 

 
43. The Latin word ‗etcetera‘ (et3) means 

1) and the rest  2) for example  3) that is 4) in the same place 
 

44. What is the ‗noun‘ form of the word ‗KNOW‘. 
1) knowing  2) knowledge  3) known 4) knew 

 
45. Rearrange the four sentences (1), (2), (3), (4) in proper sequence to form a meaningful            

 paragraph where the first and last sentences are fixed. 
S1: The heart is the pump of life. 

A: They have even succeeded in heart transplants 
B: Now-a-days surgeons are able to stop a patient‘s heart and carry out complicated 

   operations 
C: A few years ago, it was impossible to operate on a patient whose heart was not      

    working properly. 
   D: IF the heart stops, we die in about five minutes. 

S6: All this was made possible by the invention of the heart lung machine. 
1) D C B A  2) D A C B  3) D B A C  4) D C A B 

 
46. Sleep walking, formally known as _______ 

1) Lazy walking  2) Somnambulism 3) Mentally retired 4) Smart ass 
47. All students except John completed class work. This means 

1) All students completed the class work. 
2) Only John did not complete the class work. 

3) John and other students did the class work. 
4) John completed the class work. 

 
48. Pick the personified word from the following. 

1) ‗Flood of remembrance‘       2) ‗Oye wheels‘    3) ‗Virgin rock‘   4) ‗Like gnomes‘ 
 

49. Find the odd man out. 
1) Sob   2) Lament  3) Weep  4) Laugh 

 
50.  Choose the appropriate option for the underlined word. 

        The Police investigated the Case seriously. 
1) Looked into.   2) Looked through. 3) Looked out.  4) Looked off. 
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topKiw (51 Kjy; 55 tiu) : fPNo nfhLf;fg;gl;Ls;s tptuq;fis 
gbj;J gpd;tUk; tpdhf;fSf;F tpilasp: 
(i)  Kk;igapypUe;J Ie;J ez;gu;fs; P, Q, R, S kw;Wk; T nrd;id> 
nfhy;fj;jh> nly;yp> ngq;fSu; kw;Wk; i`juhghj; Mfpa ntt;Ntwhd 
efuq;fSf;F NgUe;J> njhlu;tz;b> thD}u;jp> kfpOe;J kw;Wk; glF 
Mfpa ntt;Ntwhd Nghf;Ftuj;J Kiwia gad;gLj;jp nrd;wilfpd;wdu;. 
(ii) nly;yp nrd;w egu; glif gad;gLj;jtpy;iy. 
(iii) R ngq;fSUf;F kfpOe;jpy; nrd;whu; kw;Wk; Q nfhy;fj;jhtpw;F     
 thD}u;jpapy; nrd;whu;. 
(iv) S glfpy; gazpj;jhu; mNjrkak; T njhlu;tz;bapy; gazpj;jhu;. 
(v) Kk;igapypUe;J nly;yp kw;Wk; nrd;idf;F NgUe;J topj;jlk;   
 ,y;iy.  

51. fPNo nfhLf;fg;gl;Ls;sitfspy; egUf;Fk; Nghf;Ftuj;J Kiwf;Fk; 
,ilNaahd Nru;f;ifapy; vJ jtwhFk;? 

         1) P — NgUe;J    2) Q — thD}u;jp   3) R — kfpOe;J    4) T — thD}u;jp 
 

52. fPNo nfhLf;fg;gl;Ls;sitfspy;> ―S”egUf;F vJ rupahd Nru;f;if? 

   1) nly;yp - NgUe;J   2) nrd;id- NgUe;J  

  3) nrd;id – glF   4) ,tw;Ws; vJTkpy;iy 
 

53. fPNo nfhLf;fg;gl;Ls;sitfspy;> ,lj;jpw;Fk; Nghf;Ftuj;J Kiwf;Fk; 
,ilNaahd Nru;f;ifapy; vJ jtwhFk;? 

     1) nly;yp -NgUe;J    2) nfhy;fj;jh-thD}u;jp   
  3) ngq;fSu;-kfpOe;J  4) nrd;id –glF 

54. nly;ypf;F gazpj;j egu; vt;tifahd Nghf;Ftuj;J Kiwia 
gad;gLj;jpdhu;? 

      1) NgUe;J  2) njhlu;tz;b    3) thD}u;jp  4) kfpOe;J 
 

55. fPNo nfhLf;fg;gl;Ls;stu;fspy;> nly;ypf;F gazpj;jtu; ahu;? 

      1) R       2) S   3) T   4) ,tu;fSs; vtUkpy;iy 
 

topKiw (56 Kjy; 60 tiu) : fPNo nfhLf;fg;gl;Ls;s tptuq;fis 
gbj;J gpd;tUk; tpdhf;fSf;F tpilasp: 
 

A, B, C, D, E and F Mfpa MW egu;fs;> xU tupirf;F %d;W Ngu; vd 
,U tupirfspy; mku;e;Js;sdu;. 
E vd;w egu; ve;j tupirapd; KbtpYk; mkutpy;iy. 

D vd;w egu;> F f;F ,lJGwk; ,uz;lhtjhf cs;shu;. 
C, vd;w egu;> E f;F mUfhikapYk;> D f;F FWf;nfjpuhfTk; mku;e;Js;shu;. 
B vd;w egu;> F f;F mUfhikapy; mku;e;Js;shu;. 
 

gpupT – M  
kdj;jpwikj; Nju;T – etk;gu; 2017 

fhyk; : 45 epkplq;fs;               nkhj;j kjpg;ngz;fs;: 50 
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56. fPNo cs;stu;fspy;> vt;tpU egu;fs; FWf;nfjpuhf mku;e;Js;shu;? 
 1) F kw;Wk; C        2) D kw;Wk; A       3) A kw;Wk; C       4) A kw;Wk; F  

 

57. B – ia Nehf;fp mku;e;Js;stu; ahu;? 

  1) A         2) C          3) D        4) E  
 

58. fPNo cs;stu;fspy;> vt;tpuz;L egu;fs; xNu tupirapy; 
mku;e;Js;sdu;? 

 1) A kw;Wk; E        2) E kw;Wk; D       3) C kw;Wk; B       4) A kw;Wk; B 
 

 59. gpd;tUtdtw;wpy;> xNu tupirapy; mku;e;Js;s egu;fis fhz;f? 

        1) FBC        2) CEB        3) DBF          4) AEF  

60. D – Ak;> E– Ak; ,lkhwpdhy;> Gjpa epiyapy; D – apd; mUfhikapy; 
mku;gtu;fs; ahu;? 

  1) C kw;Wk; A       2) F kw;Wk; B       3) B kl;Lk;;      4) A kl;Lk; 
 

topKiw (61 Kjy; 65 tiu) : fPNo nfhLf;fg;gl;Ls;s tptuq;fis 
gbj;J gpd;tUk; tpdhf;fSf;F tpilasp: 
rr;rpd;> Fzhy;> Nkh`pj;> uhFy; kw;Wk; Nuh`d; Mfpa Ie;J 
ez;gu;fSs;> rr;rpd;> Fzhiytpl Fs;skhdtuhfTk;> Mdhy; 
Nuh`idtpl caukhdtuhfTk; cs;shu;. Nkh`pj; kw;wtu;fistpl 
caukhdtu;. uhFy;> Fzhiytpl rpwpJ Fs;skhdtuhfTk; Mdhy; 
rr;rpidtpl rpwpJ caukhdtuhfTk; cs;shu;. 
 

61. ,tu;fSs; Fs;skhdtu; ahu;? 

 1) Nuh`d;   2) rr;rpd;   3) uhFy;  4) Fzhy;;  
62. ItUk; cauj;jpd;gb VWtupirapy; epd;why;> ItUy; eLtpy; epw;gtu; 

ahu;? 

 1) Fzhy;   2) Nuh`d;   3) rr;rpd;   4) uhFy;; 
 

63. ItUk; cauj;jpd;gb VWtupirapy; epd;why;> ItUy; ,uz;lhtjhf 
epw;gtu; ahu;?  

1) uhFy;  2) rr;rpd;   3) Nuh`d;   4) Fzhy; 
 

64. ItUy; mjpf caukhdtUf;F mLj;j caukhd egu; ahu;?  

 1) rr;rpd;   2) Fzhy;  3) uhFy;   4) Nuh`d;  
 

65. uhFiytpl caukhdtuhfTk;> Nkh`pj;ijtpl Fs;skhdtuhfTk; 
cs;s egu; ahu;?  

1) Fzhy;     2) Nuh`d;  3) rr;rpd;  4) ,tu;fSs; vtUkpy;iy 
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topKiw (66 Kjy; 69 tiu) : fPNo nfhLf;fg;gl;Ls;s glj;jpy;> rJuk; 
ngz;fisAk;> tl;lk; caukhd egu;fisAk;> Kf;Nfhzk; nld;dp]; 
tPuu;fisAk;> nrt;tfk; ePr;ry; tPuu;fisAk; Fwpf;fpwJ. 

 
66. nld;dp]; tpisahlhj caukhd ngz; ePr;ry; tPuhq;fidia 

Fwpf;fpd;w vOj;J vJ? 

      1) C   2) D    3) G    4) H 
 

67. caukw;w> nld;dp]; tpisahLk; ngz; ePr;ry; tPuhq;fidia 
Fwpf;fpd;w vOj;J vJ? 

      1) B      2) E          3) F   4) ,tw;Ws; vJTkpy;iy  
 

68. nld;dp]; kw;Wk; ePr;ry; tpisahlhj caukhd ngz;fis Fwpf;fpd;w 
vOj;J vJ? 

      1) C      2) D    3) E    4) G 
 

69. nld;dp]; tpisahlhj> caukhd Mz; ePr;ry; tPuu;fis Fwpf;fpd;w 
vOj;J vJ? 

       1) I      2) J    3) K    4) L 
 

70. tl;lk; cauj;ijAk;> Kf;Nfhzk; ,uhZt tPuu;fisAk;> rJuk; 
typikiaAk; Fwpf;Fnkd;why;> typikahd ,uhZt tPuu;fis 
Fwpf;Fk; vz; vJ? 

 
 1) 3     2) 4    3) 5    4) 6 
 

71. fPNo nfhLf;fg;gl;Ls;stw;wpy;> ―CONSULTATION‖ vd;w thu;j;ijapy; 
cs;s vOj;Jf;fis gad;gLj;jp cUthf;f Kbahj nrhy; vJ? 
   1) CONSTANT    2) NATION  3) SALUTE   4) STATION 
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72.‘SUPERFLUOUS’vd;w thu;j;ijapYs;s Kjy;> ehd;fhk;> Vohk; 
kw;Wk; gjpndhd;whk; ,lj;jpYs;s vOj;Jf;fis gad;gLj;jp 
cUthf;fg;gLk; nrhy;ypd; Kjy; vOj;J vJ? 

1) S   2) L     3) O    4) E   
 

73. ‗K A L E I D O S C O P E’vd;w thu;j;ijapYs;s vOj;Jf;fis 
gad;gLj;jp cUthf;f Kbahj nrhy; vJ? 

 1 ) SCALE  2) PADLOCK 3) PACKET  4 ) DIESEL 
 

74. gpd;tUk; njhlupy;> xw;iwg;gil vz;fSf;F Kd;ghfTk;> 
,ul;ilg;gil vz;fSf;F mLj;jjhfTk; tUk; ,ul;ilg;gil 
vz;fspd; vz;zpf;if vj;jid?  
8 6 7 6 8 9 3 2 7 5 3 4 2 2 3 5 5 2 2 8 1 1 9 

 1) xd;W     2) ,uz;L          3) Ie;J      4) ,tw;Ws; vJTkpy;iy 
 

75. xU tupirapYs;s khztu;fSs;> jPgf; ,lg;Gwk; VohtjhfTk; kw;Wk; 
kJ tyg;Gwk; gd;dpuz;lhtjhfTk; cs;sdu;. mtu;fs; ,lk; 
khwpdhy;> jPgf; ,lg;Gwj;jpy; ,Ugj;jpuz;lhtjhf cs;shu; vdpy;> 
me;j tupirapYs;s khztu;fspd; vz;zpf;if ahJ? 
 1) 19        2) 31   3) 33  4) ,tw;Ws; vJTkpy;iy 

 

76. nts;spf;fpoikapypUe;J %d;W ehl;fSf;F Ke;ija ehs; xU 
khjj;jpd; VohtJ ehisf; Fwpf;Fnkdpy;> me;j khjj;jpd; 
gj;njhd;gjhtJ ehs; ve;jf; fpoikiaf; Fwpf;fpwJ? 

 1) Qhapw;Wf;fpoik    2) jpq;fl;fpoik  

 3) Gjd;fpoik      4) nts;spf;fpoik 

77. P’ vd;gJ ‘+’, ‘Q’ vd;gJ ‘-‘, ‘R’ vd;gJ ‘x’ kw;Wk;         
‘S’ vd;gJ ‘÷’vdpy;> gpd;tUtdtw;Ws; vJ rupahFk;? 
1) 3 6 R 4 S 8 Q 7 P4 = 10    2)16 R 12 P 4 9 S 7 Q9 = 200 

3) 32 S 8 R 9 = 160 Q 12 R 12   4) 8 R 8 P 8 S 8 Q 8 = 57 
 

78. gpd;tUtdtw;iw nghUs;gl tupirg;gLj;Jf:  
 1. kUj;Jt MNyhrid  2. Neha; 3. kUj;Jtu; 4. rpfpr;ir 5. kPSjy; 
   1) 2,3,1,4,5   2) 2,3,4,1,5   3) 4,3,1,2,5   4) 5,1,4,3,2 
 

79. tpLgl;l vz;iz fz;Lgpbf;fTk;. 

6  18  15 

3  2  5 

4  3  1 

8  27 ? 
1) 11    2) 6    3) 3      4) 2 
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80. njhlu;tupirapy; nfhLf;fg;gl;Ls;s Ie;J tpdh cUtq;fis (Problem 

figures) njhlu;e;J mNj tupirapy; mLj;J tuf;$ba cUtj;ij 
tpil cUtq;fspypUe;J (Answer figures) Nju;e;njLj;J vOJf. 

             Problem Figures:                                Answer Figures: 

 
 
 

            (A)      (B)    (C)   (D)    (E)                (1)     (2)     (3)   (4)     (5) 

         1) 1   2)  2   3)  3   4)  4 
 

81. njhlu;tupirapy; nfhLf;fg;gl;Ls;s Ie;J tpdh cUtq;fis 
(Problem figures) njhlu;e;J mNj tupirapy; mLj;J tuf;$ba 
cUtj;ij tpil cUtq;fspypUe;J (Answer figures) Nju;e;njLj;J 
vOJf. 

    Problem Figures:                            Answer Figures: 
 

 
 

      (A)    (B)    (C)   (D)     (E)          (1)   (2)     (3)   (4)     (5) 
 

1) 1   2)  3   3)  2   4)  4 
 

82. njhlu;tupirapy; nfhLf;fg;gl;Ls;s Ie;J tpdh cUtq;fis 
(Problem figures) njhlu;e;J mNj tupirapy; mLj;J tuf;$ba 
cUtj;ij tpil cUtq;fspypUe;J (Answer figures) 
Nju;e;njLj;J vOJf. 

            Problem Figures:                                           Answer Figures: 
 
 

             (A)     (B)     (C)   (D)    (E)                  (1)     (2)     (3)   (4)     (5) 

  

              (A)    (B)    (C)    (D)   (E)          (1)     (2)    (3)    (4)     (5) 
 

 1) 1   2)  3   3)  4   4) 2 

83. kw;w glq;fspypUe;J khWgl;l glk; vJ vd;W Nju;e;njLj;J vOJf. 

 
                 (1)     (2)     (3)    (4)    (5) 

  

 1) 4                 2)  3                        3)  1            4) 2 
 

84. kw;w glq;fspypUe;J khWgl;l glk; vJ vd;W Nju;e;njLj;J vOJf.

 
    (1)     (2)     (3)     (4)     (5) 
1) 1                 2)  2                           3)  3   4)  4 
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topKiw (85 kw;Wk; 86) : nfhLf;fg;gl;Ls;s fPo;f;fhZk; tiuglj; 
njhlupy;> ve;j tiuglk; njhliu epiwT nra;Ak; vd Nju;e;njLj;J 
vOJf.  

85. 
 

 
 

1) 1   2)  2   3)  3   4)  4 

 
86. 

 
1) 1   2)  2   3)  3   4)  4 

 
87. gpd;tUk; glj;jpYs;s fhfpjj; jhs; ‗X‘ Ig; gad;gLj;jp 

cUthf;fg;gL;k; ngl;bia Nju;e;njLj;J vOJf. 

 
 

1)  1 kl;Lk;           2)   2 kl;Lk;          3) 1 kw;Wk; 3        4) 1,2,3  kw;Wk; 4    

 
88. nfhLf;fg;gl;Ls;s Ie;J cUtq;fspy; VNjDk; %d;W cUtq;fis 

xd;wpidf;Fk; nghOJ xU rJuk; cUthfpwJ vdpy;> me;j %d;W 
cUtq;fis Nju;e;njLj;J vOJf. 

     

1) 124        2) 345        3) 123         4) 135     
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89. fPNo nfhLf;fg;gl;Ls;s cUtq;fspy; xNu tifahd cUtq;fis 
%d;W gpupTfshf gpupf;fTk;. Mdhy; xU cUtj;ij xU Kiwf;F 
Nky; gad;gLj;j ,ayhJ. 

 

 
1) 1,3,9 ; 2,5,6 ; 4,7,8   2) 1,3,9 ; 2,7,8 ; 4,5,6   
3) 1,2,4 ; 3,5,7 ; 6,8,9   4) 1,3,6 ; 2,4,8 ; 5,7,9 

 

90. fPNo nfhLf;fg;gl;Ls;s cUtq;fspy; xNu tifahd cUtq;fis 
%d;W gpupTfshf gpupf;fTk;. Mdhy; xU cUtj;ij xU Kiwf;F 
Nky; gad;gLj;j ,ayhJ. 

 

 
1) 1,4,7 ; 2,5,8 ; 3,6,9   2) 1,4,7 ; 2,5,9 ; 3,6,7 
3) 1,3,4 ; 2,5,8 ; 6,7,9   4) 1,2,3 ; 4,5,6 ; 7,8,9 

topKiw (91 kw;Wk; 92) : nfhLf;fg;gl;Ls;s Ie;J tpil 
cUtq;fspypUe;J VNjDk; xd;iw tpdh cUtq;fspy; tpLgl;L (?) 
cs;s ,lj;jpy; nghUe;JkhW Nju;e;njLj;J vOJf. 
91. 

Problem Figures:                                 Answer Figures: 

 
 
 

   (A)     (B)     (C)    (D)              (1)      (2)     (3)      (4)      (5) 

1) 1   2)  2   3)  3   4)  4 
 

92. 
 

 Problem Figures:                                    Answer Figures: 

 
 
 

    (A)      (B)      (C)    (D)       (1)      (2)     (3)     (4)     (5) 
  

 1) 1   2)  2   3)  3   4)  4 
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93. fPNo nfhLf;fg;gl;Ls;s tiuglj;ij tiutjw;Fj; Njitahd 
Fiwe;jgl;r Neu;f;NfhLfspd; vz;zpf;ifiaf; fhz;f. 

 

 
 

1) 16                           2) 17                      3)  18                       4) 19 
 

94. fPNo nfhLf;fg;gl;Ls;s tiuglj;jpYs;s Kf;Nfhzq;fspd; 
vz;zpf;ifiaf; fhz;f. 

 

 
1)   27      2)  25       3)   23        4) 21       

 

95. fPNo nfhLf;fg;gl;Ls;s tpdhtpd; fz;zhb gpk;gj;ij fz;Lgpbj;J> 
cupa rupahd tpiliaj; Nju;e;njLj;J vOJf. 

 
1) 1 2)  2   3)  3   4)  4 
 

96. fPo;f;fhZk; tiuglj; njhlupy; ve;j tiuglk; njhliu epiwT 
nra;Ak; vd Nju;e;njLj;J vOJf. 

 

 
     (X)                    1)             2)            3)             4) 

 1) 1                            2)  2                   3)  3      4)  4 

97. $w;W: %ba cUtq;fspypUe;J xt;nthU gf;fkhf FiwfpwJ kw;Wk; 
jpwe;j cUtq;fspy; ,Ue;J xt;nthU gf;fkhf mjpfupf;fpwJ. 

  Nkw;$wpa $w;wpid epiwT nra;Ak; tpil njhFg;gpid 
Nju;e;njLj;J vOJf. 

 
 

1) 1   2)  2   3)  3   4)  4 
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98. ‗X‘ vd;w glj;jpy; ,U Gs;spfs; itf;fg;gl;Ls;sJ. mNj 
epge;jidapd; mbg;gilapy;> nfhLf;fg;gl;Ls;s ehd;F 
tiuglq;fspy;> ve;j glj;jpy; ,U Gs;spfs; itf;fg;gLk; vd 
Nju;e;njLj;J vOJf. 

 

 
 

1) 1   2)  2   3)  3   4)  4 
 

99. ‗X‘ glj;jpYs;s %d;W cUtq;fis xd;wpidj;jhy; fpilf;ff;$ba 
Gjpa cUtj;ij fPNo nfhLf;fg;gl;Ls;s tpilapypUe;J Nju;e;njL. 

 

 
 

1) 1  2)  2  3)  3  4)  4 
 

100. gpd;tUk; tpdhtpw;fhd fz;zhb gpk;gj;ij fz;Lgpbj;J> rupahd 
tpiliaj; Nju;e;njLj;J vOJf. 

 
1) 1  2)  2  3)  3  d)  4 

 



 
 

cj;Njr Ntiyf;fhf kl;Lk; 



0 
 

 
GJr;Nrup muR 

gs;spf; fy;tp ,af;ffk; 

tpdhr; rpw;NwL 
Njrpa jpwd; fhZk; (Kjy; epiy) Nju;T – etk;gu; 2017 

(gj;jhk; tFg;G) 
 

gFjp – II 

gbg;gwpTj;; Nju;T 
 

Nju;T ika vz;:    Nju;T vz;: 
Fwpg;Gfs;            

  

   
 

    
 

1. midj;J tpdhf;fSf;Fk; tpilaspf;fTk;. tpdhf;fs; xt;nthd;Wk; xU kjpg;ngz;izf;    
  nfhz;bUf;fpwJ. 
 

2. midj;J tpdhf;fSk; fl;lhakhdjhy; tpilaspg;gjw;F Kd;G KO tpdhj;jhisAk;  
  gbf;f Kay Ntz;lhk;. 
 
3. Kjy; tpdhitj; njhlq;fp tpdhit Kbf;Fk; tiuapy; xU tpdhTf;Fg; gpd; xU tpdhthf  
  tpilaspf;f KayNtz;Lk;. 
 
4. VNjDk; tpdhTf;F tpil njupahtpl;lhy;> mjw;fhf mjpf fhyj;ijr; nrytplhJ> mLj;j  
  tpdhtpw;Fr; nry;y Ntz;Lk;. fhyk; fpilg;gpd; Kjypy; tpilaspf;fhky; tpl;Lr; nrd;w  
  tpdhf;fSf;F tpilaspf;f Kay Ntz;Lk;. 
 
5. ,e;j tpdhj;jhSf;F xJf;fg;gl;bUf;Fk; fhyk; kpfTk; FWfpajhf ,Ug;gjhy; ve;j  
  tpdhtpw;Fk; mjpf fhyj;ijr; nrytopf;fhky; KOepiw Kaw;rpia mjw;fhf cgNahfpf;f  
  Ntz;Lk;. 
 
6. tpdhr; rpw;Nwl;bNyNa> cj;Njr Ntiyf;fhf filrp gf;fj;jpy; ntw;Wj;jhs;fs;  
  nfhLf;fg;gl;bUf;fpd;wd. 
 
7. Nju;tiwapy; nfhLf;fg;gLk; jdp tpilj;jhspy; (OMR Sheet) tpilfs; Fwpf;fg;gl    
  Ntz;Lk;. 
 
8. gFjp – I> gFjp – II ,itfSf;Nfw;g tpilj;jhs; ,U gFjpfisf; nfhz;Ls;sJ. 
 
9. xt;nthU tpdhtpw;fhd rupahd tpilia nfhLf;fg;gl;litfspypUe;J Nju;e;njLj;J>  
  mjdpd; vz;iz tpilj;jhspy; fUg;G ghy;ghapd;l; Ngdhtpdhy; epoypLjy; Ntz;Lk;. 
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அறிவியல்  
1. க ள஭ நபக்குண்டு உடைன எபே த஦ிஊச஬ழன் அட஬வுக் ள஬ம் 2 யி஥ளடி ள். 

இக்குண்டிற்கு நளற்஫ள  அதட஦ யிை இபண்டு நைங்கு ஥ழட஫ப௅ள்஭ உக஬ள க் 
குண்டை ப஧ளபேத்தழ஦ளல், உண்ைளகும் அட஬வுக் ள஬ம் ____ 

 1) 2 யி஥ளடி ட஭ யிை அதழ ம்  2) 2 யி஥ளடி ள்  
 3) 1 யி஥ளடி     4) 1 யி஥ளடிடன யிை குட஫வு 
 

2. புயி டநனத்தழல் உள்஭ எபே ப஧ளபே஭ின் ஥ழட஫ 
1) சுமழ      2) நள஫ளது இபேக்கும் 
3) கநற்஧பப்ட஧ யிை அதழ ம்   4) கநற்஧பப்ட஧ யிை குட஫வு 
 

3.டலட்பஜன் யளப௅ ஥ழபப்஧ப்஧ட்ை ஧லூ஦ள஦து 
 1) தடைனின்஫ழ கநல்க஥ளக் ழ பசன்றுப ளண்கை இபேக்கும். 
 2) கு஫ழப்஧ிட்ை உனபத்டத அடைந்த஧ின் நழதந்து ப ளண்கை இபேக்கும். 
 3) கு஫ழப்஧ிட்ை உனபத்டத அடைந்த஧ின் பயடித்து சழதறும். 
 4) கு஫ழப்஧ிட்ை உனபத்டத அடைந்த஧ின் தடபக஥ளக் ழ தழபேப்பும். 
 
4.  எபே ஥஧ர் அதழ  ஋டைடன, நழன்தூக் ழனில் (LIFT) __________  உணர் ழ஫ளர். 
 1) நள஫ள தழடசகய த்தழல் கநப஬ழும்பும் ப஧ளழுது. 
 2) நள஫ள தழடசகய த்தழல்  வமழ஫ங்கும் ப஧ளழுது. 
 3) கநல்க஥ளக் ழ ப௃டுக் ம் அடைப௅ம் ப஧ளழுது. 
 4)  வழ் க஥ளக் ழ ப௃டுக் ம் அடைப௅ம் ப஧ளழுது. 
 

5. 440 V நழன்யமங் ழனில் 25 W – 220 V நற்றும் 100 W- 220V உடைன இபே 
நழன்யி஭க்கு ள் பதளைர் சுற்஫ழல் இடணக் ப்஧டு ழ஫து. இயற்றுள் ஋ந்த நழன் 
யி஭க் ழன் நழன்஦ிடம உபேகும்? 

 1) 25 W  2) 100 W   3) இபண்டும்  4) இபண்டுநல்஬ 
 
6. தூன஥ீர் நற்றும் ஆல் லளல் ஥ழபம்஧ின இபேக்குடுடய ஭ில், ஧஦ிக் ட்டி ட஭ 

கசர்க்கும்க஧ளது, ஧஦ிக் ட்டினள஦து 
 1) ஥ீரில் உனர்ந்து  ளணப்஧டும். 
 2) ஆல் லள஬ழல் உனர்ந்து  ளணப்஧டும். 
 3) இபண்டிலும் சந அ஭யில்  ளணப்஧டும். 
 4) ஥ீரில் நழதந்தும், ஆல் லள஬ழல் ப௄ழ் ழப௅ம்  ளணப்஧டும். 
 
7. 5  ழக஬ள ழபளம் ஥ழட஫ப௅ள்஭ எபே ப஧ட்டிடன  3 நீட்ைர் உனபத்தழற்கு புயினரீ்ப்பு 

யிடசக்கு ஋தழபள  உனர்த்தும் க஧ளது பசய்னப்஧டும் கயட஬___ 
 1) 150 ஜஶல் 2) 150 ஥ீபெட்ைன் 3) 15 ஜஶல்  4) 15 ஥ழபெட்ைன் 

gFjp – M 
gbg;gwpTj; Nju;T – etk;gu; 2017 

fhyk; : 90 epkplq;fs;               nkhj;j kjpg;ngz;fs;: 100 
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8. அட஫ பயப்஧஥ழட஬னில் ப௄டின ஥ழட஬னில் ஥ீபேள்஭  ண்ணளடி குடுடயடன 
஥ழ஬யிற்கு ஋டுத்துச்பசன்று தழ஫க் ப்஧டும் க஧ளது, ஥ீபள஦து 

 1) ப ளதழக்கும்        
 2) உட஫ப௅ம்  
 3) ஆக்சழஜன் நற்றும் டலட்பஜ஦ள  சழடதவுறும்  
 4) ஋வ்யித நளற்஫ப௃ம் அடைனளது 

 

9. ஆழ் ைல் ஥ீச்ச஬ழன்க஧ளது, ஥ீரின் கநற்஧பப்ட஧ க஥ளக் ழ ஋ழும்க஧ளது, த௃டபனபீல் 
பயடிப்஧தற் ள஦ அ஧ளனம் உள்஭து. இதற் ள஦  ளபணம் 

 1) ஧ளய்ல் யிதழ      2) ஆர்க் ழநழடிஸ் ப ளள்ட  
3) க -லூசளக் ழன் ஧பேநன் இடணப்பு யிதழ  4)  ழபளநழன் ஧பயல் யிதழ 
 

10. எபே நழன்கநளட்ைளரின் நழன்தழ஫ன் 2  ழக஬ளயளட் ஋஦ில், எபே ஥ழநழைத்தழல் 10 நீ 
உனபத்தழற்கு கநக஬ற்஫ப்஧டும் ஥ீரின் அ஭வு ஋வ்ய஭வு? 
1) 3600  ழக஬ள   2) 1500  ழக஬ள     3) 1200  ழக஬ள       4) 800  ழக஬ள 

 

11.  வழ்க் ளண்஧யற்றுள் ப஧ளபேந்தளத இடணடன ஋டுத்து ஋ழுது . 
(i) 22  ளபட் தங் ம்  - தழண்நத்தழல் தழண்நம் 
(ii) ப௄டு஧ணி   - யளப௅யில் ஥ீர்நம் 
(iii) இபசக்  ஬டய  - ஥ீர்நத்தழல் ஥ீர்நம் 
(iv) கு஭ிர்஧ள஦ம்  - ஥ீர்நத்தழல் யளப௅ 

 1) i  2) ii  3) iii   4) iv 
 

12. ப ளடுக் ப்஧ட்டுள்஭டயனில் ஋டய அணுயின் ஥ழட஫க்கு நழ க்குட஫ந்த அ஭வு 
஧ங் ஭ிக் ழ஫து? 

 1) ஥ழபெட்பளன் ள் நட்டும்  2) ஥ழபெட்பளன் ள் நற்றும் புகபளட்ைளன் ள்  
 3) ஋஬க்ட்பளன் ள் நட்டும்  4) ஋஬க்ட்பளன் ள் நற்றும் ஥ழபெட்பளன் ள் 
 

13.  வழுள்஭யற்஫ழல் ஋து/ ஋டய அ஭யில் ப஧ரினது? 
 1) ப௄஬ அணு    2) ஋தழர்நழன் அன஦ி  
 3) க஥ர்நழன் அன஦ி   4) ஋தழர்நழன் நற்றும் க஥ர்நழன் அன஦ி 
 
14.  ளப்஧ரின் இடணதழ஫ன் 1 நற்றும் 2.  ஆக்சழஜ஦ின் இடணதழ஫ன் 2 ஋஦ில், குப்ரிக் 

ஆக்டசடின் கயதழ யளய்஧ளடு__ 
 1) CuO 2) Cu2O 3) Cu2O3  4) CuO2 
 
15. அன஦ிப்஧ிடணப்பு கசர்நங் ட஭ ஧ற்஫ழன சரினள஦ கூற்று ஋து? 
 1) குட஫ந்த உபேகு஥ழட஬ நற்றும் ப ளதழ஥ழட஬ 
 2) உபே ழன ஥ழட஬னிலும் நழன்சளபத்டதக்  ைத்துயதழல்ட஬ 
 3) ப௃ட஦வுள்஭  டபப்஧ளன் ஭ில்  டபப௅ம் 
 4)  டி஦த்தன்டநனற்஫து, யிடபயள  உடைப௅ம் தன்டந ப ளண்ைது. 
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16. உக஬ள ப்க஧ள஬ழக்கு எர் ஋டுத்துக் ளட்டு 
 1) தளநழபம் 2) பஜர்நள஦ினம் 3)  ளர்஧ன் 4) ைங்ஸ்ைன் 
 
17. அழுத்த சடநனல்  ஬ட஦ உபேயளக்  ஧னன்஧டும் உக஬ள க் ஬டய ஋து? 
 1) டிபெபலுநழன்  2) பநக்஦ள஬ழனம் 3) துபேப்஧ிடிக் ளத ஋ஃகு  4) ஥ழக் ல் ஋ஃகு 
 
18.  வழுள்஭ கயதழ கசர்நங் ட஭ அதன் ஧னனுைன் ப஧ளபேத்து : 
 அ. கசளடினம்  ளர்஧க஦ட்      - i) உணவுப஧ளபேள் ட஭ ஧தப்஧டுத்துதல் 
 ஆ. கசளடினம் ட஧ ளர்஧க஦ட்  - ii)  ளற்று அடைக் ப்஧ட்ை கு஭ிர்஧ள஦ங் ள் 
 இ. ப஧ன்சளனிக் அநழ஬ம்     - iii)  டி஦஥ீடப பநன்டந஧டுத்துதல் 
 ஈ.  ளர்க஧ள஦ிக் அநழ஬ம்     - iv) அநழ஬ ஥ீக் ழனில் எபே ஧குதழப்ப஧ளபேள் 
  1) அ-iii, ஆ -iv, இ-I, ஈ –ii    2) அ-iv, ஆ -iii, இ-ii, ஈ -I  

 3) அ-ii, ஆ -iii, இ-iv, ஈ -I   4) அ-iii, ஆ -I, இ-iv, ஈ -ii 

 

19. 2.5 கநளல் உள்஭ ஆக்சழஜன் அணுயின் ஥ழட஫ 
` 1) 16  ழ 2) 30  ழ 3) 36  ழ    4) 40  ழ 
 
20.  வழுள்஭யற்஫ழல் ஋து ஥டு஥ழட஬த் தன்டநப௅டைனது 
 1) குமளய் ஥ீர்    2) யளட஬யடி ஥ீர்   3) ஧஦ிக் ட்டி ஥ீர்   4) நடம ஥ீர் 
 
21. புகபளக ரிகனளட்டிக் பசல்஬ழல்  ளணப்஧டும் டபக஧ளகசளநழன் யட  ஋து? 
 1) 10 S     2) 30 S        3) 70 S         4) 80 S 
 
22. ஧ின்யபேய஦யற்றுள் ஋து அதழ ஭வு புபதம் நற்றும் RNA-டய ப஧ற்றுள்஭து? 
 1) ஥ழபெக்஭ிகனள஧ி஭ளசம்  2) டசட்கைள஧ி஭ளசம்  

3) ஥ழபெக்஭ிகனள஬ஸ்   4) ஬ழபெக்க ள஧ி஭ளஸ்ட் 
 

23. எபே பசல்஬ழன்  ளர்ப஧ளடலட்கபட்டை தனளரிக்கும் பதளமழற்சளட஬னள  தழ ழும் 
 ணி ம் 

 1) குகபளகநள஧ி஭ளஸ்ட்  2) குக஭ளகபள஧ி஭ளஸ்ட்  
 3) ஥ழபெக்஭ிகனள஧ி஭ளஸ்ட்  4) ஬ழபெக்க ள஧ி஭ளஸ்ட் 
 
24. ஋றும்஧ளல் ஥டைப஧றும் ந பந்தச்கசர்க்ட  ஋வ்யளறு அடமக் ப்஧டு ழ஫து? 
 1) சூஃ஧ி஬ழ 2) ஋ண்ைகநளஃ஧ி஬ழ  3) அ஦ிகநளஃ஧ி஬ழ  4) ஆர்஦ித்கதளஃ஧ி஬ழ  
 
25.  வகம ப ளடுக் ப்஧ட்டுள்஭  ஦ி ஭ின் யட  ஭ில் ஋து சரினள஦ உதளபணத்துைன் 

ப஧ளபேந்தழப௅ள்஭து? 
 1) ப஧ப்க஧ள – ஆப்஧ிள்   2) க ரிகனளப்சழஸ் - ஧ட்ைளணி  
 3) சழப்பச஬ள - ப஥ல்   4) பபக்நள - ஆநணக்கு 
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26.  பேவு஫ளக்  ஦ிக்கு ஏர் ஋டுத்துக் ளட்டு 
1) ஆபஞ்சு 2) தக் ள஭ி    3) நளம்஧மம்  4) ப ளய்னள 
 

27. ஧ின்யபேய஦யற்஫ழல் சழ஫ந்த ஋ரிப஧ளபேள் கதர்வு ஋து? 
 1) ஥ழ஬க் ரி  2) டலட்பஜன்   3) டீசல்   4) நீத்கதன் 
 
28. ஋ந்த  ஦ினின்  பே ஸ்கூட்டி஬ம் ஋஦ அடமக் ப்஧டு ழ஫து? 
 1)  ம்பு   2) ப஥ல்    3) கசள஭ம்  4) அயடப 
 
29. ஧ின்யபேய஦யற்஫ழல் எபே சழ஫ந்த எட்டுண்ணித் தளயபம் ஋து? 

1) கநளக஦ளட்கபள஧ள  2) யிஸ் ம் 3) ட்பளசழபள   4) ஧ிடபகனள஧ில்஬ம் 
 
30. ந஫தழ க஥ளய், கதளல் க஥ளய் நற்றும் யனிற்றுப்க஧ளக்கு க஧ளன்஫ க஥ளய் ள் ஋ந்த 

டயட்ைநழன் குட஫யளல் உபேயள ழ஫து? 
 1) B5 2) B6   3) B7   4) B12 
 
31. ப஧ளடுகு நற்றும் கசற்றுப்புண் ல௃க் ள஦  ளபணி____ 
 1) டயபஸ்    2) ஧ளக்டீரினள    3) பூஞ்டச ள்  4) புகபளட்கைளகசளயளன் ள் 
 
32. HIV இபத்தழல் உள்஭ _____டன குட஫க் ழ஫து. 
 1) ஬ழம்க஧ளடசட்ஸ்   2) ஋ரித்கபளடசட்ஸ்  
 3) தழபளம்க஧ளடசட்ஸ்   4) கநளக஦ளடசட்ஸ் 
 
33. உனிர்ந சுபேக் த்டத ________ ஋ன்று அடமப்஧ர்? 
 1) ஋க்றளஸ்நளறழஸ்   2) ஆஸ்நளசழஸ்   
 3) ஧ி஭ளஸ்கநளட஬சழஸ்  4) ஋ண்ைளஸ்நளறழஸ் 
 
34.  வழ் ண்ையற்஫ழல் ஋து அதழ  சதயித த஦ிநங் ட஭ ப ளண்டுள்஭து? 
 1) ஧ளல்  2) ப௃ட்டை 3) நீன்     4) நளநழசம் 
 
35. ந஦ிதரில் ஧ளல் சுபத்தலுக்கு  ளபணநள஦ சுபப்஧ி ஋து? 
 1) ஧ிட்பெட்ைரி  2) டதபளய்டு 3) டதநஸ்    4) அட்ரி஦ல் 
 
36.  வழ்க் ண்ையற்றுள் ஋யற்஫ழன் உைல் பநல்஬ழனத் தடசனளல் ஆ஦து? 
 1) ஥ன்஦ரீ் நட்டி  2) தயட஭ 3) அட்டை 4) ப ளக் ழப்புழு 
 
37.  வழ்க் ண்ையற்றுள் ஋து நஞ்சள்  ளநளட஬ க஥ளனி஦ளல் ஧ளதழக் ப்஧டு ழ஫து? 
 1)  ல்லீபல்        2)  டணனம்  3) நண்ணபீல்    4) இடபப்ட஧ 
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38. ய஭பேம்  பேயின் ஥பம்புத்தழசுக் ள் ப஧ற்றுள்஭ ஥ழபெபள஦ின் யட  
 1) டநன஬ழனுட஫ ஥ழபெபளன்  2) ஧஬ப௃ட஦ ஥ழபெபளன்          

3) இபேப௃ட஦ ஥ழபெபளன்  4) எபேப௃ட஦ ஥ழபெபளன் 
 
39. ஊர்ய஦ யகுப்஧ில், ________க்கு நட்டும் ஥ளன்கு அட஫ ப ளண்ை இதனம் இபேக்கும். 
 1) ப௃தட஬ 2) ஧ளம்பு     3) உடும்பு  4) ஏணளன் 
 
40. தந்து ழ ள் நீண்டும் இடணந்து ______ உபேயளக்கும். 
 1) பயன்பெல்        2) ஆர்ட்டீரிகனளல் 3) சழடப     4) தந஦ி 
 

சமூக அறிவியல் 
41. உைடநனற்஫ சளதளபண உடமப்஧ள஭ி ள் ஋வ்யளறு அடமக் ப்஧ட்ை஦ர்? 
 1) குடினபசன் 2) பச஦ட்    3) ஧ி஬ழப்஧ினர் ள்    4) ஧ளட்ரிரழனன் ள் 
 

42. புத்தரின் தழபேநட஫ ஋வ்யளறு அடமக் ப்஧டு ழ஫து? 
 1) ஧ைீ ங் ள்        2) ந ளனள஦ம்   3) லழ஦னள஦ம்    4) அ஧ிதம்ந ஧ைீ ம் 
 

43. ஋தழர் ள஬ ஆ ளனக் ப்஧ல் ஋ன்஧தற் ள஦ யடப஧ைத்டத உபேயளக் ழனயர் 
 1) ஬ழனள஦ர்கைளைளயின்சழ 2) டநக்க ல் ஌ஞ்சக஬ள  3) பக஧ல்  4) தழதழனன் 
 

44. இன்குசழசன் ஋ன்஫ ஸ்஧ள஦ின யிசளபடண ஥ீதழநன்஫ம் னளபேடைன  ள஬த்தழல் 
஥ழறுயப்஧ட்ைது? 

 1) இக்க஦ரழனஸ் ஬கனள஬ள    2) ஍ந்தளம் சளர்஬ஸ்  
 3) உல்ரிச் சுயிங்஭ி          4) நன்஦ர் ப஧ர்ட்டி஦ளன்டு 
 

45. நண்ணின் ய஭த்டத நீட்பைடுக்  ஧னிரிைப்஧ட்ை பசடி 
 1) குக஭ளயர் 2) தழடண            3)  பேம்பு  4) க ளதுடந 
 

46.  ம்஧ினில்஬ள நழன்யிடச  ம்஧ி ப௄஬ம் பசய்தழ ட஭ அனுப்பும் தந்தழ ப௃ட஫டன 
 ண்டு஧ிடித்தயர் 

 1) கஜம்ஸ் ஧ிரின்க஬ 2) ஜளன் பநக் ஆதம்   3) கநளர்ஸ்      4) கஜம்ஸ் யளட் 
 

47. ஈ஧ிள் க ளபுபம் ஋ப்ப஧ளழுது  ட்ைப்஧ட்ைது? 
 1) 1879 2) 1859    3) 1869  4) 1889 
 

48. சவ஦ள இங் ழ஬ளந்தழற்கு அ஭ித்த தீவு 
 1) ஧ளர்கநளசள 2) லளங் ளங்   3) ஧ி஬ழப்ட஧ன்ஸ்  4) ஜப்஧ளன் 
 

49. அபநரிக்  ப஧ளபே஭ளதளபம் இனல்பு ஥ழட஬க்கு தழபேம்஧ின ஆண்டு 
 1) 1934 2) 1940   3) 1941  4) 1945 
 

50. லழட்஬ரின் ப சழன  ளயல்஧டை 
 1) ஏவ்பள 2) ப ஸ்ைக஧ள 3) ஃ஧பர்  4) சுயஸ்தழ ள 
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51. ஧ி஬ழட்ஸ் ழரீக் ஋ன்஫ளல் 
 1) நழன்஦ல் க஧ளர்    2) ஧துங்கு குமழப்க஧ளர்  
 3) ஥ீர்ப௃ழ் ழ ப்஧ல் க஧ளர்  4) ப ளரில்஬ளப் க஧ளர் 
 

52. 1941- ஆம் ஆண்டு லழட்஬ர் ஧டைபனடுத்த ஥ளடு 
 1) பஷ்னள 2) ஧ிபளன்ஸ்  3) ஧ிபஷ்னள  4)஧ளபசவ ம் 
 

53. தழபேநதழ யிஜன஬ட்சுநழ ஧ண்டிட் அயர் ள் ஍. ஥ள யின் தட஬யபள  
கதர்ந்பதடுக் ப்஧ட்ை ஆண்டு 

 1) 1963 2) 1957  3) 1955  4) 1953 
 

54. ஍கபளப்஧ின என்஫ழனத்தழன் தற்க஧ளடதன உறுப்பு ஥ளடு ள் 
 1) 26 2) 28   3) 29   4) 32 
 

55. துடணப்஧டைத் தழட்ைத்டத அ஫ழப௃ ப்஧டுத்தழனயர் 
 1) ைல்பலசழ ஧ிபபு   2)  ர்சன் ஧ிபபு  3)  ள஦ிங் ஧ிபபு  4) பயல்ப஬ஸ்஬ழ ஧ிபபு 
 

56.  ளங் ழபறழல் ஧ி஭டய ஌ற்஧டுத்தழன நள஥ளடு 
 1) சூபத் 2) ஬ளகூர்  3) தழரிபுபள  4) நதபளஸ் 
 

57. இபண்ைளம் உ஬ ப் க஧ளரில் இந்தழனர் ட஭ ஈடு஧டுத்தழனயர் 
 1)  ள஦ிங் ஧ிபபு 2) ைல்பல஭சழ 3) ஬ழன்஬ழத்க ள 4) ஬ழட்ைன் ஧ிபபு 
 

58. இந்தழனளயின் ப௃தல் நற்றும்  டைசழ இந்தழன  யர்஦ர் பஜ஦பல் 
 1) நவுண்ட்க஧ட்ைன் ஧ிபபு 2) க஥பே  
 3) இபளஜக ள஧ள஬ளச்சளரி 4)  ளநபளசன் 
 

59. 1940- ஆம் ஆண்டு  ளநபளசர் யளர்தள பசன்று சந்தழக்  இபேந்தது 
 1) க஥பே 2)  ளந்தழஜழ  3) தழ஬ ர்  4) ஜழன்஦ள 
 

60. அ ழ஬ இந்தழன ந ஭ிர் நள஥ளடு ஥டைப஧ற்஫ இைம் 
 1) பூ஦ள 2) ஧ம்஧ளய்  3) தள஦ள  4) சதளபள 
 

61. குமந்டத ல௃க் ள஦ இ஬யச  ட்ைளன  ல்யி அ஭ிக்  யட  பசய்யது 
 1) ஧ிரிவு 21-A 2) ஧ிரிவு 25- A 3) ஧ிரிவு 28- A 4) ஧ிரிவு 30-A 
 

62. இந்தழனளயின் தற்க஧ளடதன குடினபசுத் தட஬யர் 
 1) ைளக்ைர் அப்துல்  ஬ளம்   2) தழபேநதழ நீபளகுநளர்  
 3) தழபே. ஧ிபணளப் ப௃ ர்ஜழ      4) தழபே. பளம்஥ளத் க ளயிந்த் 
 

63. த௃ ர்கயளர் இனக் த்தழன் தந்டத 
 1)  ளர்ல் நளர்க்ஸ்   2) ஧ளன் வப௃ன் 3) அபுல் ஆசளன் 4) பளல்ஃப் ஥ளைளர் 
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64. நள஥ழ஬த்தழன் உண்டநனள஦ ஥ழர்யள த் தட஬யர் 
 1) ஆல௃஥ர் 2) ஥ீதழ஧தழ  3) அடநச்சர்  4) ப௃த஬டநச்சர் 
 

65. உ஬  சு ளதளப ஥ழறுய஦ம் அடநந்துள்஭ இைம் 
 1) இந்தழனள 2) கபளம்  3) ஧ிபளன்சு  4) பஜ஦ியள 
 

66. ப௃தல் தநழழ் அச்ச ம் பதளைங் ப்஧ட்ை இைம் 
 1) தபங் ம்஧ளடி      2) தழபேச்சழபளப்஧ள்஭ி   3) தஞ்சளவூர்     4) தூத்துக்குடி 
 

67. ப௄ன்று ஧பேயங் ஭ிலும் நடம ப஧றும் நளயட்ைம் 
 1) ஥ள ப்஧ட்டி஦ம் 2) தழபேயளபைர்    3) தழபேயள்ல௃ர்    4)  ன்஦ினளகுநரி 
 

68. கதசழன க஧ரிைர் கந஬ளண்டநனின் தட஬யர் 
 1) ப௃த஬டநச்சர்  2) நளயட்ை ஥ீதழ஧தழ  3) நளயட்ை ஆட்சழனள஭ர்  4) ஧ிபதநர் 
 

69. நக் ள்பதளட  ஧ற்஫ழன ஧டிப்பு ஆங் ழ஬த்தழல் ஋வ்யளறு கூ஫ப்஧டு ழ஫து? 
 1) ஧கனள ழபள஧ி 2) ஧ிறழகனள ழபள஧ி 3) பைகநள ழபள஧ி  4) பைர்நைள஬ஜழ 
 

70. சழற்஫ளற்஫ழல் உள்஭ பு ழ் ப஧ற்஫ ஥ீர் யழீ்ச்சழ 
 1) பதளட்ைப஧ட்ைள 2) இபளகநஸ்யபம்  3)  ளயிரி  4) குற்஫ள஬ம் 
 

71. தநழம த்தழல் உ஧கனள த்தழல் இல்஬ளத நபபுசளபள சக்தழய஭ம் 
 1) உனிர் ஋ரிசக்தழ   2) சூரின சக்தழ   3)  ளற்஫ளட஬ சக்தழ   4) ஏத அட஬ சக்தழ 
 

72. இநனநட஬னில், கநட்டு஥ழ஬ப் புல்பய஭ி  ளணப்஧டும் உனபம் 
 1) 2000 நீ 2) 500 நீ  3) 30-200 நீ  4) 1000 நீ  
 

73. இந்தழனளயின் ப௃க் ழன ஋ரிசக்தழ ய஭ம் 
 1) ப஧ட்கபள஬ழனம் 2) இனற்ட  ஋ரியளப௅ 3)  ளற்று சக்தழ 4) ஥ழ஬க் ரி 
 

74. தங்  இடமப்஧னிர் 
 1) கதனிட஬ 2) சணல்  3)  ளப்஧ி  4) புட னிட஬ 
 

75. ப௃த஬ளயது யள஦ிட஬ச் பசனற்ட க ளள் 
 1) LANDSAT 2) TIROS-1  3) SPOT  4) ERTS 
 

76. உ஬  க஧ரிைர் குட஫ப்பு ஥ளள் 
 1) அக்கைள஧ர் 2 2) அக்கைள஧ர் 12 3) அக்கைள஧ர் 13 4) அக்கைள஧ர் 21 
 

77. நளர்ர஬ழன் கதடய யிதழ 
 1) யிட஬ குட஫ந்தளல் கதடய உனபேம் 
 2) யிட஬ குட஫ந்தளல் கதடய குட஫ப௅ம் 
 3) யிட஬ உனர்ந்தளல் கதடய உனபேம் 
 4) யிட஬ உனர்ந்தளல் கதடய நள஫ளது 
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78. ஥ழ ப உள்஥ளட்டு உற்஧த்தழ ஋ன்஧து 
 1) பநளத்த ஥ளட்டு உற்஧த்தழ (-) கதய்நள஦ம் 
 2) பநளத்த உள்஥ளட்டு உற்஧த்தழ (-) கதய்நள஦ம் 
 3) பநளத்த ஥ளட்டு உற்஧த்தழ (-) த஬ள யபேநள஦ம் 
 4) பநளத்த உள்஥ளட்டு உற்஧த்தழ (-) த஬ள யபேநள஦ம் 
 

79. ஧சுடநப்புபட்சழடன அ஫ழப௃ ப்஧டுத்தழனது 
 1) இந்தழன கய஭ளண் ஆபளய்ச்சழ ஥ழறுய஦ம் 
 2) இந்தழன பதளமழல் ஆபளய்ச்சழ ஥ழறுய஦ம் 
 3) இந்தழன உணவுக்  ம ம் 
 4) இந்தழன அ஫ழயினல்  ம ம் 
 

80. ப௃தல் அனுசக்தழ ஥ழட஬னம் பதளைங் ப்஧ட்ை இைம் 
 1) பசன்ட஦ 2) புதுபைல்஬ழ  3)  ளம்க஧  4) டிபளம்க஧ 
 

கணிதம் 
81.  log107 = a, ஋஦ில்,  log10(1/70) = _______________ 
    1)  –(1+a)    2) (1+a)-1     3) a/10    4) 1/10a 
 

82. ஧ைத்தழல்,    OBA எபே சந஧க்  ப௃க்க ளணம் ஋஦ில், B புள்஭ிடன  ளண் . 
 
 

 
 

 
 
  
 

 1) ( 3𝑎, 𝑎)                    2) (𝑎,  3𝑎)       3) (𝑎,0)    4) (𝑎, 𝑎) 

83. எபே கூட்டுத் பதளைர் யரிடசனில் 9 ஆம் உறுப்பு 449 நற்றும் 449 ஆம் உறுப்பு 9 
஋஦ில், ஋த்தட஦னளயது உறுப்பு பூஜ்ஜழனம் ஆகும்? 
 1) 508 யது  2) 502 யது  3) 501 யது  4) 458 யது 
 

84.  x =
 10+  2

2
 நற்றும்  y =

 10−  2

2
, ஋஦ில்  log2(x2+ xy + y2) யின் நதழப்பு ______ 

    1) 0             2) 2     3) 3     4) 4 
 

85. எபே பசங்க ளண ப௃க்க ளணத்தழன்  ர்ணம்  52 பச.நீ. நீதப௃ள்஭ ஧க் ங் ஭ில் 
சழ஫ழன நற்றும் ப஧ரின ஧க் ங் ட஭ ப௃ட஫கன ப௃ம்நைங்கு நற்றும் இபேநைங் ள  
நளற்஫ழ஦ளல் புதழன  ர்ணம்  288 பச.நீ. ஋஦ில் அதன் இபே ஧க் ங் ஭ின் ஥ீ஭ங் ள் 
ப௃ட஫கன, _____________ 

 1) 4 பச.நீ. நற்றும் 6 பச.நீ  2) 2 பச.நீ நற்றும் 3 பச.நீ 
 3) 6 பச.நீ நற்றும் 8 பச.நீ.  4) 5 பச.நீ. நற்றும் 12 பச.நீ. 

B 

O 

Y’ 

X’ X A 

Y 

(2a,0) 
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86. எபே அலுய஬ த்தழல், 
3

4
 ஧ங்கு ஊமழனர் ள் தட்ைச்கசள, குறுக்ப ழுத்கதள 

பசய்னநளட்ைளர் ள். 
1

5
 ஧ங்குக஧ர் தட்ைச்சும், 

1

3
 ஧ங்குக஧ர் குறுக்ப ழுத்தும் 

பசய்யளர் ள். பநளத்த ஊமழனர் ஭ில் ஋த்தட஦ ஧ங்குக஧ர் இபண்டைப௅ம் 
பசய்யளர் ள் ? 

 1) 1/5 2) 3/40   3)13/40  4) 17/60 
 

87. எபே  ம்஧ினின் ஆபத்டத ப௄ன்஫ழல் எபே ஧ங் ள  குட஫த்தளலும் அதன்  ஦ அ஭வு 
நள஫யில்ட஬. புதழன ஥ீ஭ம் ப ளடுக் ப்஧ட்ை ஥ீ஭த்தழல் ஋த்தட஦ நைங்கு? 

 1) 1 ப௃ட஫ 2) 3 ப௃ட஫  3) 6 ப௃ட஫  4) 9 ப௃ட஫ 
 

88.  (1025-7) நற்றும் (1024+x) ன் யித்தழனளசம் 3 ஆல் யகு஧டும் ஋஦ில்  xன் நதழப்பு  

     1) 3     2) 2     3) 6     4) 1 
 

89.  α
2= 5α-3, β

2= 5β-3, α ≠ β  ஋஦ில், α/β நற்றும் β/α டய ப௄஬நள க் ப ளண்ை 
சநன்஧ளடு  ______ 

     1) 3x2+19x+3=0    2) 3x2-19x-3=0      3) 3x2-19x+3=0      4) x2-16x+1=0  
   
90. எபே உபேட஭ யடியத் தூணின் யட஭஧பப்பு 264நீ2 நற்றும்  ஦ அ஭வு 924நீ3 

஋஦ில், அதன் யிட்ைத்தழற்கும், உனபத்தழற்கும் உள்஭ யி ழதம் ஋ன்஦? 
 1) 3:7 2) 7:3   3) 6:7   4) 7:6 
 

91. எபே யட்ைத்தழல் AB = 10 பச.நீ. நற்றும் CD = 24 பச.நீ. ஋ன்஫ ஥ளண் ள் 
இடணனள  உள்஭து. கநலும் அடய யட்ைடநனத்தழற்கு ஋தழபபதழர் பு஫நள வும், 
இபண்டுக்கும் இடைப்஧ட்ை தூபம் 17 பச.நீ. ஆ வும் இபேக்குநள஦ளல், யட்ைத்தழன் 
ஆபம் ஋ன்஦? 

 1) 14 பச.நீ 2) 10 பச.நீ  3) 13 பச.நீ  4) 15 பச.நீ 
 
92. எபே எழுங்கு ஧஬க ளணத்தழன் உட்க ளணங் ஭ின் கூடுதல் 1440° ஋஦ில் 

஧஬க ளணத்தழன் ஧க் ங் ள் ஋த்தட஦? 
 1) 10 2) 12   3) 14   4) 16 
 

93. 2x+4=3x+1 ஋ன்஫ சநன்஧ளட்டின் யடப஧ைம் y-அச்சழல் ஋ந்த புள்஭ினில் சந்தழக்கும்? 

 1) (3, 0)     2) (0, 3)     3) (0, -1)    4) ஋ந்த புள்஭ினிலும் சந்தழக் ளது 
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94. 10 அடி உனபப௃ள்஭ ஧டி ட்டு ல௃ள் எவ்பயளபே ஧டினின் உனபம் அடப அடினள வும், 
஥ீ஭ம் எபே அடினள வும் உள்஭து. எபே ஋றும்பு தடபனி஬ழபேந்து ஧டிக் ட்டின் 
உச்சழடன அடைன ஋வ்ய஭வு தூபம்  ைந்து பசல்லும்? 

 1) 30 அடி 2) 33 அடி  3) 10 அடி  4) 29 அடி 
 
95. √2x√2x+4 = 4 ஋ன்஫ சநன்஧ளட்டில், x ன் நதழப்பு 
 1) 5 2) 6   3) 7   4) 8 
 

96.  
x

y
 ப௅ைன் ஋டத கூட்டி஦ளல்  y

 x
   ழடைக்கும் 

     1)  y−x

y2x2      2) 
y2−x2

xy
     3) xy

x+y
          4) x2y2

x2+y2 
 
97. அடுத்தடுத்த ப௃ழுக் ஭ின் கூடுதல் 50 ஋஦ில் ஋த்தட஦ ப௃ழுக் ள் உள்஭஦? 
 1) 2 2) 4   3) 6   4) 8 
 
98.   13

4   ஋ன்஧தற்குச் சநநள஦து _______ 
     1)  1328       2)  1348      3)  1388      4)  1368  
 

99.  x+ 
1

x
 = 3, ஋஦ில்  x6 + 1

x 6 ன் நதழப்பு ________ 

     1)  927    2) 114    3) 364     4) 322 
 
100.  ABC நற்றும் PQR இபே யடிபயளத்த ப௃க்க ளணங் ஭ின் குத்துனபங் ள் AD 

நற்றும் PS ன் யி ழதங் ள் ப௃ட஫கன 4:9 ஋஦ில்    ABC ன் ஧பப்஧஭வுக்கும்           
 PQR ன் ஧பப்஧஭வுக்கும் உள்஭ யி ழதம் ஋ன்஦? 

     1) 16:81    2) 32:92   3) 33:94     4) 36:98 
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